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Exam Date & Time 23-02-2023 09:00:00

Subject : GE_Q01-Q10_PGTECO
Question ID:- 181

DLFERENCE

Choose the word similar in meaning to the above word.
(1) Skill

(2) Reverence

(3)  Prediction

(4)  Retmement

Options:-

«1, Option ID :- 721,

« 2, Option ID :- 722,

« 3, Option ID :- 723,

« 4, Option ID :- 724,

Answer Given:- 2, Option ID : -722
Question ID:- 182

DLARTH

Choose the word opposite in meaning to the one given above.
(1)  Success

(2)  Wisdom

(3) Surfeit

(4)  Passion

Options:-

«1, Option ID :- 725,

« 2, Option ID :- 726,

« 3, Option ID :- 727,

« 4, Option ID :- 728,

Answer Given:- 3, Option ID : -727

Question ID:- 183

Identify the Part of Speech of the underlined word in the sentence given below :

The children are where you left them .
(1}  Noun

(2) WVerb

(3)  Pronoun

(4)  Adjective

Options:-
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«1, Option ID :- 729,

« 2, Option ID :- 730,

« 3, Option ID :- 731,

« 4, Option ID :- 732,

Answer Given:- 3, Option ID : -731
Question ID:- 184

I am going to write a letter.
Choose the option in which VOICLE in the above sentence has been correctly changed into Passive
Voice.

(1) A letter is going to be written by me.

(2) A letter 15 being written by me. .
(3) A letter is written by me.

(4) A letter will be written by me.

Options:-

« 1, Option ID :- 733,

« 2, Option ID :- 734,

« 3, Option ID :- 735,

« 4, Option ID :- 736,

Answer Given:- 2, Option ID : -734
Question ID:- 185

Ram said, I shall write a book.”

Choose the option in which the above sentence has been changed into Indirect Narration.
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(1)  Ram said that he shall write a book.
(2)  Ram said that he would write a book.
(3)  Ram said that he should write a book.

(4) Ram said that I should write a book.

Options:-

« 1, Option ID :- 737,
« 2, Option ID :- 738,
« 3, Option ID :- 739,

« 4, Option ID :- 740,
Answer Given:- 3, Option ID : -739

Question ID:- 186



Rearrange the following jumbled words and phrases into a meaningtul and grammatically correct
sentence .

(A)  sleeps the
(B)  that knows
(C) sleep

(D) no waking
(L)  she

(1) (E) (A), (C), (B). (D)
(2) (D) (B) (C), (A), (E)
(3) (C} (B). (D). ()
(4) (D) (C), (A), ()

’

Options:-

«1, Option ID :- 741,

« 2, Option ID :- 742,

« 3, Option ID :- 743,

« 4, Option ID :- 744,

Answer Given:- 4, Option ID : -744
Question ID:- 187

[dentity the Part of Speech of the underlined word in the sentence given below :
It shall be done by then.

(1) Noun

(2)  Fronoun

Ppetprime.com

(3)  Adjective
(4)  Adverb

Options:-

«1, Option ID :- 745,

«» 2, Option ID :- 746,

« 3, Option ID :- 747,

« 4, Option ID :- 748,

Answer Given:- 2, Option ID : -746
Question ID:- 188

[dentity the tense of the following sentence :
[ am going to Mumbai in the evening.

(1)  Tuture indefinite

(2) Future continuous

(3)  Present continuous

(4)  Simple present

Options:-

«1, Option ID :- 749,
« 2, Option ID :- 750,
«» 3, Option ID :- 751,



« 4, Option ID :- 752,
Answer Given:- 3, Option ID : -751

Question ID:- 189
Fill in the blanks m the following sentence by choosing the correct opions out of the given ones.
He looked his watch his bedroom.
(1) at;at
(2)  for;in
() in;at
(4)  on; through

Options:-

«1, Option ID :- 753,
«» 2, Option ID :- 754,
» 3, Option ID :- 755,

«» 4, Option ID :- 756,
Answer Given:- 4, Option ID : -756

Question ID:- 190

Fill in the blank in the tollowing sentence by choosing the correct option out of the given cnes.
He swam the river to the other bank.

(1) across

(2)  inte

(3)  in

(4) along
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Options:-

«1, Option ID :- 757,
« 2, Option ID :- 758,
« 3, Option ID :- 759,

« 4, Option ID :- 760,
Answer Given:- 1, Option ID : -757

Subject : GH_Q11-Q20_PGTECO

Question ID:- 191

=1 fau O T 1 g w3t e & e F i
ST A Rl @ L ol Fiel] Ush hedTahi) $T7 Yol oiishdd F1d shiq H§ J59 o4l 21
T ST € AT ZH = B WA Al 2R | AT s GEE D S0 G A W ol § e

el TR T R SeerE 7§ 7
(1) ehealTaEE] 2 Heel didhHd
(2) FHITRR] 377 Wael AhAd

(3)  ehoHTUeRHl SN cllhdif=eh Hd

(4) EEATAE T AT

Options:-



« 1, Option ID :- 761,
« 2, Option ID :- 762,
« 3, Option ID :- 763,
« 4, Option ID :- 764,
Answer Given:- 2, Option ID : -762

Question ID:- 192

=1 feu o T ) aE e S A = Fife

ST FHEATS] ] E FL A AT U AT S HeE SR T A 6 A | R
TE T € A 39 =9 B0 WA 1aT Sl 21 | A0 HIiees G i A0 T T8 B ol 8 Hel
@, S HUE TRd § 7 7%t 38 AR A |

(1) =7 @ I qee = PIF

(2) A AN I TEAT S ST ©

(3)  HYR & @RI I TR F

(4)  HE FENE =TT ] A 2

Options:-

« 1, Option ID :- 765,
« 2, Option ID :- 766,
« 3, Option ID :- 767,

« 4, Option ID :- 768,
Answer Given:- 3, Option ID : -767
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Question ID:- 193

=1 fau o T 0 UEE JAiiaE 3 e & = Hifa

AT HEENETT R B B ol JTel U Bl el ST Hae efRed Fa A 1 HEA TR 2

g

TG G 31T 5 S e HdiE il gril | iaud deifas R sl JYul @ 98 v odl ) we
T, S HEE ARd § 7 WEe 3% aAn |

TN H AT VI A F T FA FA o 0 e T 7

(1) WiEs= =+ fau gea
(2) HftEEd % o o

(3)  HETS HEE ® qedl
(4)  HHEE FHEE F THeAdl

Options:-

«1, Option ID :- 769,

« 2, Option ID :- 770,

« 3, Option ID :- 771,

« 4, Option ID :- 772,

Answer Given:- 2, Option ID : -770

Question ID:- 194



AT THENET R B FL o Fel Ush weATeRy] SiR e ellhid Ta S 0 TE 7l 2| L e
U7 oIl & AT 35 " g UdiE @Al 21 | Adue diifees G i S0 HE g W oldl 2 FEl 2
T, S GEW AR © 7 T80 39 A 4 |

(1)  TTER F 9=
(2) AU HHETHI G HAH

(3) AT FEETH H T
(4)  TEe U AAl 2

Options:-

«1, Option ID :- 773,

« 2, Option ID :- 774,

« 3, Option ID :- 775,

« 4, Option ID :- 776,

Answer Given:- 2, Option ID : -774

Question ID:- 195

e.COMm

T fou T TR Y YR TEiHE 3t e A F e
ST FTOEE T E O ATeT Ueh Rl @1 UAe SRTT Sd wR T WEE Tl 2 | T
TG AT @ S g9 417 & Wil Al arl | Adud Jeifse Guw sl J ST 92 w5 ofdl ) Fe

S, S AT 9Ted & 7 980 S da | 1

TATET T FET VS ¥ 5

(1)  w=m Q

(2) = “

(3) ELIEIE

(4) = Uﬂ
Options:- Q

«1, Option ID :- 777,
« 2, Option ID :- 778,
« 3, Option ID :- 779,

« 4, Option ID :- 780,
Answer Given:- 3, Option ID : -779

Question ID:- 196

e 912 1 -1 70 W2 TRl § 7

I

(2) zHE-4d

(3)
)

TT=RTH — HFTH

(4) e - forfera



Options:-

«1, Option ID :- 781,

« 2, Option ID :- 782,

« 3, Option ID :- 783,

« 4, Option ID :- 784,

Answer Given:- 1, Option ID : -781

Question ID:- 197

S o TAEET 9

(1) 3-ifa
(2) &=
(3) ScHH
(4) T
Options:-

« 1, Option ID :- 785,
« 2, Option ID :- 786,
« 3, Option ID :- 787,
« 4, Option ID :- 788,
Answer Given:- 2, Option ID : -786

Question ID:- 198

AeqH- qGHE F FA-T JH FHTEE 7

(1) dfg=1 - 9=
(2) JH - A=
() HH - e
(4) T - =i
Options:-

«1, Option ID :- 789,
« 2, Option ID :- 790,
« 3, Option ID :- 791,

« 4, Option ID :- 792,
Answer Given:- 4, Option ID : -792

Question ID:- 199

s 7 - SAET ST © -
(1) H + NI = =

(2) 3fd + &g - zeuie

(3) W+ T - W

(4)  TH + 91 - TH
Options:-

« 1, Option ID :- 793,
« 2, Option ID :- 794,
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« 3, Option ID :- 795,

« 4, Option ID :- 796,
Answer Given:- 4, Option ID : -796

Question ID:- 200

iz | T - E -

(1) fed-ua
(2)  #Hiil-die
(3) F=-ArE

(4)  FEE-E
Options:-
«1, Option ID :- 797,
« 2, Option ID :- 798,
« 3, Option ID :- 799,

« 4, Option ID :- 800,
Answer Given:- 4, Option ID : -800

Subject : GA_Q21-Q30_PGTECO

Question ID:- 201

What is the hexadecimal equivalent ot decimal number 23 2
(1y 17

(2 7

(3) 16

(4) 18

SIS HE 23 TR WIS SR WHqed WA 1 e

(1y 17
2y 7
(3 16
(4) 18
Options:-

«1, Option ID :- 801,

« 2, Option ID :- 802,

« 3, Option ID :- 803,

« 4, Option ID :- 804,

Answer Given:- 3, Option ID : -803
Question ID:- 202

Among the following which is not advisable tor having ‘Farth Quake sate’” buildings ?

(1) To consult qualified architects and structural engineers while constructing the building,.

(2)  Use heavy construction materials at roof area in the highly seismic area.
(3)  Tix cupboards and shelves to the walls.

(4) Have tirefighting equipment in working order.

Ppetprime.com



fefafad § 9 fed sy gifa’ vaq & forn qomeihrs 48 &g o el & ?

(1) W= T % 907 A0 angsn 3R e SerRl | Ty o
(2) AT spER AT A W O 9T AT HE R W R

(3)  wIEIE HE Sow &1 SEn | T

(4)  ATTIHA STHII ] = Ferd o TE]

Options:-

« 1, Option ID :- 805,

« 2, Option ID :- 806,

« 3, Option ID :- 807,

« 4, Option ID :- 808,
Answer Given:- 2, Option ID : -806

Question ID:- 203

Match List (I) with List (IT) and select the correct answer using the codes given below :

List (I)

(Missiles)
(A)  Brahmos Extended Range Version
(B)  Submarine Launched Ballistic Missile
(C)  Helina
(D) Phase I Ballistic Missile Defence Interceptor (iv)
Codes :

(A} (B) (©) (D)
() Gy () GG
() ) ) G i)
GY @) Gy G
() ) @ v @)

List (1)

(Month in which missile tests were conducted)

(i)  May, 2022
(i)  October, 2022
(iii)  April, 2022

November, 2022

T - (1) 3R G- (1) 1 e fwmfe oin f= fTn 7 32 & v w70 w9 s o 9 R

(4)
(B)
()
(D)

g (1)
(fermrget )
STETH o] fasarig id JEhi
wAge! H @igl S gl dfafies fmeea

EHER
ol 2l fraEa f2he deme

(A) (B) (€) (
v (i) (@) ()
0 @) () (o
Gy v) 0
(im) (1) (1v)y ()

- (1)
( Towmger aiteror &t )
() T, 2022
(i) HFE, 2022
(i) =7, 2022

2022

3 -

(iv) g
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Options:-

« 1, Option ID :- 809,

« 2, Option ID :- 810,

« 3, Option ID :- 811,

« 4, Option ID :- 812,

Answer Given:- 3, Option ID : -811
Question ID:- 204

Match List (I) with List (IT) and select the correct answer using the codes given below :

List (I) List (IT)

(Arjuna awardees, 2022) (Sports/Games)
()  Omprakash Mitharval (i) Wushn
(B) Sreeja Akula (i)  Shooting
(C)  Anshu (1)) Table Tenms
(D) Parveen (iv)  Wrestlimg
Codes

(A) (B} () (D)
(1) () (i) (v) (i)
@ (v 0 GG
G) G G G @)
(4)  (m) (v} () ()

I (1) 3T "= (1) F Tem e 6n 9 200 %2 1 990 #7359 0 W8 30 F1 F97 600
=t - (1) = -(11)

L=

(31517 qreeRr e, 2022) (&)
(A)  HAHYHI Hea @ =99
(B)  #TSfl SEe (i) FrmE
(C) =7 (iif) e 2fH
(D) T (iv) el

(A) By (O (

1) @ @ () (i)

(2) vy () ()

(3) @) () (i)
(4) () (v) (1) (1)

Options:-

«1, Option ID :- 813,

« 2, Option ID :- 814,

« 3, Option ID :- 815,

« 4, Option ID :- 816,

Answer Given:- 4, Option ID : -816

Question ID:- 205
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Among the following authors whose book/title was selected for Sahitva Akademi Awards 2022 in
Sanskrit 7

(1)  Janardan Prasad Pandey "'Mant’
(2} K. Ganesh

(3)  Balram Shukla

(4) Sudhikanta Bharadwaja

ffefad ofgesl 5 9 T ovgsd +1 Yk /olids &1 Hekd U @fee il Juahi 2022 & fdu <-4
=T 7

(1) @A 9H91E 9 i’

(2) =T T

(3)  SlcTIH AeFAT

(4)  HHERIT R

Options:-
«1, Option ID :- 817,
« 2, Option ID :- 818,
«» 3, Option ID :- 819,
« 4, Option ID :- 820,
Answer Given:- 1, Option ID : -817
Question ID:- 206
A commission of inquiry headed by Justice J.C. Shah called "Shah Commission of Inquiry” was
appointed to inquire into which of the following events m India ?

(1)  The proclamation of emergency in 1975

(2)  The demolition of Babri Masjid in 1992
(3) Indira Gandhi's assassination in 1984
(4)  Bombay Riots 1992

A | Frefofaa § @ fFm == = =i F 50 Siien sl e oA ¥ uE S s e o
A Y T F e ot 7

(1) 1975 H =9Ik ] HET
(2y 1992 T =rad] Afesd # sEH
(3) 1984 T T T I Fem
(1) 1992 T =g & i

Options:-

«1, Option ID :- 821,

« 2, Option ID :- 822,

» 3, Option ID :- 823,

« 4, Option ID :- 824,

Answer Given:- 3, Option ID : -823

Question ID:- 207
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The Roval Bengal Tiger is most commonly found in which kind of forests in India ?
(1)  Thorn Forests

(2)  Mangrove Forests

(3) Montane Forests

(4) Tropical Evergreen Forests

IRA 1 TFE 9T F g9 1 " T 9 7R 97 A E 2
(1) FZEr =H

(2)  F= Fidad

(3)  TEAA FA

(4) TETRZEH] HEEN TE

Options:-
«1, Option ID :- 825,
« 2, Option ID :- 826,
« 3, Option ID :- 827,
« 4, Option ID :- 828,
Answer Given:- 4, Option ID : -828
Question ID:- 208
United States of America surpassed which country te become India’s biggest trading partner in
the year 2021-2022 7
(1)  Russia
(2) China
(3] Soudi Arabia

(4) Indonesia

T4 2021-22 § P 1 Hed T2 SANF AFTER 390 g0 T - 8 29 &1 4= 2 7

(1) ®=H

(2) =

(3) HIE A

(4)  ZEHAfI
Options:-

«1, Option ID :- 829,
« 2, Option ID :- 830,
«» 3, Option ID :- 831,
« 4, Option ID :- 832,
Answer Given:- 2, Option ID : -830

Question ID:- 209
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Consider the foﬂtm-f]'ng statements :

(a)

(b)

Parliament in India has the power by law to provide tfor the abolition of the Legislative

Council of a State.

The Legislative Assembly of the concerned state has no say in the matter of the abolition of

the Legislative Council of a State

Choose the correct answer from the codes below:

(1) (a) is correct but (b) 15 wrong
(2) (@) 1s wrong but (b} is correct
(3)  Both (a) and (b) are correct
(4) Neither (a) nor (b) 1s correct
frfafaa F=e W fa=n fwf-
(a) 9N d H@He 1 @6 F e T T 1 f[um 97HE %1 9HE i F wiew 9a ©
(b)  HETE T T A9 [T T 759 T T e w5 WHE T F W H R I T8 e
(1) (a) 51 2 foieg (1) o7 2
() (a) TTewd 2 T (b) TEE
(3)  (a) SR, = HE E
(4) &l HH e o w1 A
Options:-

« 1, Option ID :- 833,

« 2, Option ID :- 834,
» 3, Option ID :- 835,

«» 4, Option ID :- 836,
Answer Given:- 3, Option ID : -835

Question ID:- 210

Assertion (A) : Bacteria are single-called microorganisms without a nucleus.

Reason (R) : Bacteria are Bukaryotic organisms.

Choose the correct answer from the codes below :

(1)
(2)
(3)
(4)

(A) 1s correct but (R) is wrong

Both (A) and (R) are correct and (R) explain (A)

Both (A) and (R} are correct but (R) does not explamn (A)
Neither (A), nor (R) 1s carrect
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ANFYA (A) ;S T e Al UEEOE T ETEE B ¢
% (R) : Stamu] A=l Sie gd # |
=14 fag T Fz 9 Wi s F w9 fEman)
(1) (A) 921 & faiq (R) 7Te0dl 2
(2} (A) 3R (R) F1 ®WEl € 37 (R), (A) ] T0 Fd £
(%) (A) HE (R) =11 921 3 T (R), (A) #1998 420 ohidl 2
(4)  BETH T FE T AR
Options:-
«1, Option ID :- 837,
« 2, Option ID :- 838,
« 3, Option ID :- 839,

« 4, Option ID :- 840,
Answer Given:- 2, Option ID : -838

Subject : RA_Q31-Q35_PGTECO
Question ID:- 211

The given question is based on the tollowing intormation :
I’ @ Q means ‘I is the father of 'Q;

P @ Q means T’ 1s the mother of 'Q°;

P % Q means ‘T is the son of 'Q';

P # Q means T 1s the brother of ‘Q";
I'H#J®LzG%F, then how is 'F related to " ?

(1)  Son

(2)  Grandson

(3] Son-in-law

(4) Father

e 1 wm F=fafes st w snafa #
PEQHFAYET - P, QH UM T,

‘P Q FAA T - P, QH AW T

Py QR WS E - D, QU

PHQ FHFT - P, QF 9E &1

Al H# @ L@ G % F 2 d T, ] H e yshil deaisgdg 2 7

(1) 94
(2)  u
(3) =M=
(4) fua
Options:-

«1, Option ID :- 841,
« 2, Option ID :- 842,
» 3, Option ID :- 843,
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« 4, Option ID :- 844,

Answer Given:- 3, Option ID :

Question ID:- 212

Three statements showing relationships have been given, which are followed by two conclusions
(1) and (11). Assuming that the given statements are true, find out which of the conclusions is/are

definitely true.

-843

Statements : Ly J=
2y L<M
(2) D=M
Conclusions : () D =]
(I JT<D

(1) Only conclusion (I) 1s tue

(2)  Only conclusion (L) is true

(3)  Both conclusions (1) and (I} are true

(4)  Neither conclusion (1) nor (II) is true

A Fe e A A e e F e A A ) s ) e mE
FoA HEl §, JE A1 HIfT0 B 1 9y Feed e =9 9 98 8

HUT (1 J<L
(2) L<M
3 D=M

fere: () D =]
(I J7<D

(1) ==t Fesd (1) 5é 8
B

(2) e feR (1) T

(3 Frwd (1) 3 () 2L w9 E
(4) i Ft 6 9w of o

Options:-

« 1, Option ID :- 845,
« 2, Option ID :- 846,
« 3, Option ID :- 847,
« 4, Option ID :- 848,

Answer Given:- 2, Option ID :

Question ID:- 213

Eight friends A, B, C, D, E, F, G and H are sitting around a circle,
between 'E and ‘. ‘G 1s the neighbour of 'E'.
immediate left of A", "H" is not the neighbour ot *D" or °E".

-846

Which of the following statement is true ?

(1) I’ 1s the neighbour of ‘G’
(2) ‘G is between 'H and 'F

(3) ‘B is between ‘B and ‘F’

(4)  “H' is immediate neighbour of “A” and T

2 W gu f fau o

facing at the ¢
‘T 1s on the immediate right of 'B". "H’ is on the
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TR I A, B, C DL F, G 3N H UF g9 F 91 $7 359F $¢ & A e FF 93 2 1°C,'E S F F
9 A3 B G, E R 9EH 2 1F, B Uhed 2@l S B 1H, A Uk &l #E B 1 H, D A9
T=ferfiaa ° 9 =4 | &9 90 2 7

() F,'G & T2H 7

(2) G,H HARE A H 2

(3) 'E.BHAREF ®HEEHE

(1) ‘H, A D F TEEE TS T

Options:-

«»1, Option ID :- 849,

« 2, Option ID :- 850,

« 3, Option ID :- 851,

« 4, Option ID :- 852,

Answer Given:- 2, Option ID : -850
Question ID:- 214

Three statements are given tollowed by three conclusions (I), (IT) and (I). You have to take these
statements to be true, even if they seem to be at variance from commonly known facts. Decide
which of the given conclusions logically tollow(s) from the given statements

Statements :

(1)  Seme plates are cups.
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(2) Some cups are tumblers.

(3)  All tumblers are spoons.
Conclusions :

(Iy  Some spoons are cups

(IT)  Some cups are plates

(M1}  Some spoons are plates

(1)  Only conclusion (I) follows

(2)  Only conclusion (L) tollows

(3)  Only conclusions (I) and (II) tollow
(4)  Only conclusions (I) and (ITI) follow



= T F T E e A d e (n, (1) @5 a0 fen e # s 3 e o W W © =
o\ F1d a1 fa= = A 2 3 foie wifsu R we anva feRd feu o wmeEi g afde =9 g
fAeheadn 2/2 7

A
(1y &= w42 &Y E |

(2)  FD w0 feE

(3) =l Trems == 2

e

() &% =4 %9 &

(Il) Fo Fd w2 E

(1) = = e &

(1) Faa FeRd () Feerd g

(2) e Frekd (1) Fekor §

(3) A TR (1) S (1) PR g

(4)  Faa FERy (1) @ ) AEem &

Options:-

«»1, Option ID :- 853,

« 2, Option ID :- 854,

» 3, Option ID :- 855,

«» 4, Option ID :- 856,

Answer Given:- 3, Option ID : -855

Question ID:- 215

Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :

Father, Infants, Males

Oc
@
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fau o faFredi 9§ 5 UH =9 A07F & =94 &0 = 20 70 a1 o == J921 a9 #1902

(2)

Options:-

«1, Option ID :- 857,
« 2, Option ID :- 858,
» 3, Option ID :- 859,

«» 4, Option ID :- 860,
Answer Given:- 1, Option ID : -857

Subject : CL_Q36-Q40_PGTECO
Question ID:- 216

Which of the tollowing features is not included in paragraph formatting ?
(1)  Making text bold

(2)  Aligning text

3) Indenting text

(
(4)  Adjustng space between lines

a{ % ™+ ﬁpel_l ﬁ ﬁ?{ _':ﬁ- P[EI-'J\ Tl ¥ iq'i" ﬁ?ﬁ' %:’:
(1

THRT ] TS S

2)  TEE F] TR Al

—

i

)
)
(3) = 1 TES A
(4)

Options:-
«1, Option ID :- 861,
« 2, Option ID :- 862,

petprime.com



« 3, Option ID :- 863,

« 4, Option ID :- 864,
Answer Given:- 1, Option ID : -861

Question ID:- 217

The first slide of a presentation in MS-PowerPoint normally has the layout of :

(1) Header slide

(2)  Content with caption
(3)  Section Header

(4)  Title Slide

THIH-TER @52 Fei29H & Jea TEs J AHa o
g2 TR

)
(2) FIE F WY F2
)

dl2de] Ilze

Options:-

«»1, Option ID :- 865,

« 2, Option ID :- 866,

« 3, Option ID :- 867,

« 4, Option ID :- 868,

Answer Given:- 4, Option ID : -868

Question ID:- 218

A software program that pmhibits pop-up ads from web pages or actual pop-ups caused while

coding 15 called

(1) Ad blocker

(2)  Popup blocker
(3)  Firewall

(4)  Spam blocker

T H-3TE2 B 2

T WA AT 51 Fads 9 919-379 USH I FI2T Fid T 9094 araas 119- 74 %1 [5g Fa

&, A% el &
(1) TZ =T+
(2)  HH-379 sl

(4) T =T

Options:-

«1, Option ID :- 869,
« 2, Option ID :- 870,
« 3, Option ID :- 871,
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« 4, Option ID :- 872,
Answer Given:- 2, Option ID : -870

Question ID:- 219

The key(s) acts as a toggle key.
(1) Caps lock and Insert

(2)  Shift and Insert

(3)  Shift and Caps lock

(4)  Shitt and Ctrl

FIH UF 2N RIS F B9 H FH R D

(1) ™ T U2 55
(2} ToR UE T
(3) TR Uz FeE
(1) o UE Cul

Options:-

«1, Option ID :- 873,

« 2, Option ID :- 874,

«» 3, Option ID :- 875,

« 4, Option ID :- 876,

Answer Given:- 3, Option ID : -875

Question ID:- 220

Which key combination is used to indenta paragraph in MS-Word ?

(1) Cul+N
(2) Ceal+O
(3)  Ctl+P
(4)  Ctrl +M

THUH-T2 § T JIETF &1 322 Hl4 o Tl & J1 & AT T30 69 a1 € 7

(1) Cel+N
(2)  Ctl+O
(3)  Ctl +P
(1) Crrl +M

Options:-

«1, Option ID :- 877,
« 2, Option ID :- 878,
« 3, Option ID :- 879,

«» 4, Option ID :- 880,
Answer Given:- 4, Option ID : -880

Subject : UL_Q41-Q55_PGTECO

Question ID:- 221
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What do you understand by "Development’ in child’s growth ?
(1) Trreversible Quantitative change while child grows

(2)  Reversible Quantitative change

(3} Qualitative change while child grows

(4) Irreversible Qualitative change

e w1 Hatg 0 famm’ 1 e A E

(1)
(2)  FIRHIE TR T
(3)

Aled=h a’ﬁ ﬂr_r:,} %-E chH ﬁ r;] :Iﬂ [ ]-a[] cHeh QPJ\aE,r"i

(4)  TR-ZERAUE TEE T

Options:-

«1, Option ID :- 881,

« 2, Option ID :- 882,

« 3, Option ID :- 883,

« 4, Option ID :- 884,

Answer Given:- 4, Option ID : -884
Question ID:- 222

The following example would best explain ‘Moral demam’” of the child ?
(1)  Argument with friend on social conflict

(2)  Differentiabing between Good and Bad

(3)  Crymg over pet dog's death

(4)  Distribution of Birthday sweets

fAeiTFd ¥ 9 53 S ¥ 9a® & AfdE a7’ # F9amy e 8 Tl §
y AT e an | e A faae

(2)  3AH AR T F 99 faug
) TR A F R W I
)

e F aE W Tl e

Options:-

«»1, Option ID :- 885,

« 2, Option ID :- 886,

« 3, Option ID :- 887,

« 4, Option ID :- 888,

Answer Given:- 2, Option ID : -886

Question ID:- 223
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Which one of the following is an example of Primary Socialising Agency in Education ?
(1) School
(2)  Media
(3} Family
(4) Home

Tr=ifed § 1 =77 foen = &9 § waid=s AT USHT = S5TE € 7

(1) =
(2) Hifea
(3) diEw \
(4) T
Options:-

«1, Option ID :- 889,

« 2, Option ID :- 890,

« 3, Option ID :- 891,

« 4, Option ID :- 892,

Answer Given:- 3, Option ID : -891

Question ID:- 224

Which one of the following could be attributed to ‘Affective domain” in child’s development ?
(1) Feeling

(2) Crying

petprime.com

(3)  Swimming
(4) Thinking

faifea ¥ A f59 9 & fTm 0 TS &9 O =1 Tl 2 2

(1) FfE
(2) Tad
(3) ATH
(4) ==
Options:-

«»1, Option ID :- 893,
«» 2, Option ID :- 894,
» 3, Option ID :- 895,
« 4, Option ID :- 896,
Answer Given:- 1, Option ID : -893

Question ID:- 225



‘Maturation” in child’s development is very crucial for
(1)  Dancing

(2)  Learning

(3)  TPlaving

(4) Smang

A1 & fa=m | fAmitea § 3 e fon ' afoged’ 7 aa 7
T

(1)

(2) ATy
(3)  E
(

4y TEA

Options:-

« 1, Option ID :- 897,

« 2, Option ID :- 898,

« 3, Option ID :- 899,

« 4, Option ID :- 900,

Answer Given:- 2, Option ID : -898
Question ID:- 226

The active participation of the child in classroom talls under :
(1)  Social learning

(2)  Emotional learning

(3)  Cognitive learning

(4) Experimental learming

Foofl H AAF I ARF TewTira FeitEa 1 9 s i o € 2
(1) HEfsF #AEH

(2) e SATETH

(3)  HIAETeEE A

(4) wETE s

Options:-

«1, Option ID :- 901,

«» 2, Option ID :- 902,

» 3, Option ID :- 903,

« 4, Option ID :- 904,

Answer Given:- 3, Option ID : -903

Question ID:- 227
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The act of ‘Driving car’ comes under :
(1} Affective domain

(2)  Psychomotor domain

(3}  Emotonal domain

(4) Cogmitive domam

2T FeAT w1 4 feita § A Torees sfafa =7 @ 7
(1)

(2)  TEETEE AT

(3)  HAEAHE &7
(4) A AT

&:I r]— (’I]r‘F_ S:H

e

Options:-

« 1, Option ID :- 905,

« 2, Option ID :- 906,

« 3, Option ID :- 907,

« 4, Option ID :- 908,

Answer Given:- 2, Option ID : -906
Question ID:- 228

‘Empathy’ is an essental trait ot
(1) Teacher

(2)  Doctor
(3} TProfessional counseller
(4) Lawver

‘Feufa’ et O o ferwe sifqard wem § 2

(1) =A%

(2) fafee

(3)  FATEHITE WIHE
(4) TR

Options:-

«1, Option ID :- 909,
« 2, Option ID :- 910,
« 3, Option ID :- 911,
« 4, Option ID :- 912,
Answer Given:- 1, Option ID : -909

Question ID:- 229
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The following could be an example of physical disability .
(1)  Cerebral Palsy

(2)  Autism

(3} Dyslexia

(4)  Dvysgraphia

Tr=ifra 5 1 337 o fo=mia) 1 3580 31 A1 © 7

(1) H¥Ee gl (Tafeeh =776 )
(2) e

(%) Femafan

(4) Temmiwn

Options:-

«1, Option ID :- 913,

« 2, Option ID :- 914,

« 3, Option ID :- 915,

« 4, Option ID :- 916,

Answer Given:- 2, Option ID : -914
Question ID:- 230

Which one of the following can be attributed to 'Cugnitivism’ ?

(1) Drawing

(2) Paintng

(3)  Problem-solving,
(4) Rote memory

feifea o 9 T30 SaEeasare =& 53 51 S JFd @ 7

EEEL
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(1)

(2) T

(3) HHH-HHHA
(4) A=
Options:-

«1, Option ID :- 917,
« 2, Option ID :- 918,
» 3, Option ID :- 919,
«» 4, Option ID :- 920,
Answer Given:- 3, Option ID : -919

Question ID:- 231



Which one ot the following is the secondary socialising agency in the context of learning ?

(1)  Famuly
(2)  Home
(3} School
(4)  Media

AT F A O e 9 = A EE AT TSE © 7

(1) HfEm
(2) T
(2)y T

(4) STEHEN HIEAH

Options:-

«1, Option ID :- 921,

« 2, Option ID :- 922,

« 3, Option ID :- 923,

« 4, Option ID :- 924,

Answer Given:- 3, Option ID : -923

Question ID:- 232

The "Learning” at home comes under :

(1)  Contextual Learning
(2)  Formal Learning
(3}  Informal Learning

(4) Non-formal Learning

Options:-

« 1, Option ID :- 925,

« 2, Option ID :- 926,

«» 3, Option ID :- 927,

« 4, Option ID :- 928,

Answer Given:- 3, Option ID : -927

Question ID:- 233

Options:-

« 1, Option ID :- 929,
« 2, Option ID :- 930,
« 3, Option ID :- 931,
« 4, Option ID :- 932,
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Answer Given:- 3, Option ID : -931

Question ID:- 234

Options:-

« 1, Option ID :- 933,

« 2, Option ID :- 934,

« 3, Option ID :- 935,

« 4, Option ID :- 936,

Answer Given:- 2, Option ID : -934

Question ID:- 235

What is the role of ‘Maturation” in learning ?
(1) It determines readiness in learning
(2) It facilitates achieving milestones
(3) It promotes memory

(4) It would fix learning goals

safee H it w1 T 8 7
(1)
(2)  THH fAuifa @57 oma 45 H A 2 e
(3)  TEHH TR0 v fSEiea g E
(4) THH HW % @ e 2

TH wfay # feru qean fAsife =6 21

e

Options:-

«1, Option ID :- 937,
« 2, Option ID :- 938,
«» 3, Option ID :- 939,

« 4, Option ID :- 940,
Answer Given:- 1, Option ID : -937

Subject : UTL_Q56-Q70_PGTECO
Question ID:- 236

Spenser describes education as ¢
(1) Selt learning

(2) Preparation for life

(3)  Complete Living

(4) Meanmgtul life
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(1) -3y

(2)  FEA A qER
(3) T SEm-frarE
(4)  HdE e

Options:-

« 1, Option ID :- 941,

« 2, Option ID :- 942,

« 3, Option ID :- 943,

« 4, Option ID :- 944,

Answer Given:- 1, Option ID : -941
Question ID:- 237

The behavioural learning theory is associated with :
(1)  Environment

(2)  Stimulus - response

(3)  Peer pressure

(4)  Heredity

FIENTHE T g Feied 1 9 ey Jea 67

Options:-

« 1, Option ID :- 945,

« 2, Option ID :- 946,

« 3, Option ID :- 947,

« 4, Option ID :- 948,

Answer Given:- 1, Option ID : -945

Question ID:- 238

Name the branch of philosophy that propounded project method :

(1) Naturalism
(2} ldealism
(3)  Pragmatism

(4) Realism
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=TS T v T i fats uem =y, =

(1) wFEas

(2) =TEYER

(3) SIEEIEREE
(4) AR
Options:-

« 1, Option ID :- 949,
« 2, Option ID :- 950,
« 3, Option ID :- 951,

« 4, Option ID :- 952,
Answer Given:- 3, Option ID : -951

Question ID:- 239

What 1s constructivism in learning ?

(1)
(2)
(3)
(4)

Learning through logic
Learning by doing
The learner develops knowledge with the help of previous knowledge

Learning by memory

A 4 TS | A AT B 7

(1) TF & ApAg 7 A

(2)  FHEE F HE=H H

(3) Sl s e AT 7 % Hera | FE o wea g
(4)  =Hfd o HiEE q Sy

Options:-

«»1, Option ID :- 953,
» 2, Option ID :- 954,
» 3, Option ID :- 955,

« 4, Option ID :- 956,
Answer Given:- 3, Option ID : -955

Question ID:- 240

According to psychologists-what is ‘learning’ ?

(1)
2

(2)
()
(4)

Dhrected behaviour
Positive altered behaviour
Tocused behaviour

Fixed behaviour
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TAERTF % 2R ‘s R Y

(1) = =5=er

(2)  TETETE aiEfdd SEER
(3) FHi=a FTEER

(4) T =5eEn

Options:-

« 1, Option ID :- 957,

« 2, Option ID :- 958,

« 3, Option ID :- 959,

« 4, Option ID :- 960,
Answer Given:- 2, Option ID : -958

Question ID:- 241

What should be the ideal classroom environment for effective learning ?

TET JETH F AU 2R e w-Te T W o e g TEy 7

Well decorated classroom
Well ventilated classroom
Well equipped with AV aids classroom

Non-threatening and supportive environment

(1) A== Fan

(2) Taoshed 39 =aTETg HAl
(?‘) 'SE’EHW \_.E!"II}U'SEE‘T EEFHT
(4) I T FEFE TR
Options:-

«1, Option ID :- 961,
« 2, Option ID :- 962,
« 3, Option ID :- 963,

« 4, Option ID :- 964,
Answer Given:- 4, Option ID : -964

Question ID:- 242

Learning by duing is example of :

(1)
2

(2)
()
(4)

Activity based lTearning
Lxperiential learning
Cognitive learning

Classical learning
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TR0 oF HEE § 1T Feed § 9 e Seelw § 7

(1) T smenfia sfeams
(2) EVERHE S

(3)  HAATHE =TT
(4) I @

Options:-

« 1, Option ID :- 965,

« 2, Option ID :- 966,

« 3, Option ID :- 967,

« 4, Option ID :- 968,

Answer Given:- 1, Option ID : -965
Question ID:- 243

A student found helping the blindman to cross the road. It comes under :
1) Socal activity

2)  Community service

3 Hidden curriculum

4)  Morality

e.COMm

e famaed @l fF = =afaa =1 F2% T #0d g0 S T4 | T8 g et § 1 el gu H s 7

(1) |t e
(2) REAECH
(3)  sT9Re WSH=A]
(4) e
Options:-

«1, Option ID :- 969,
«» 2, Option ID :- 970,
« 3, Option ID :- 971,

« 4, Option ID :- 972,
Answer Given:- 4, Option ID : -972

PpPetpri

Question ID:- 244

A Democratic curriculum should have the following character :
(1)  Entertainment
(2) Leisure

(3)  Study tour
(4

Development of integrated personality



~

AR 929%H | =ifEa 0 9 &9 T 2599 g4 =red. ?

e

(1) WAEsA
(2) =

(3) T SA

(4)  Uchithd =Hiddd *1 {914

Options:-

«1, Option ID :- 973,

« 2, Option ID :- 974,

« 3, Option ID :- 975,

« 4, Option ID :- 976,

Answer Given:- 4, Option ID : -976
Question ID:- 245

[CT applications in school education enhances :
1) Enhances peer learning

2)  Creativity and thinking skills

3 Interest

4] Attention

T [ H o W 3 R smAr | et § e dada e e 7
(1) 35% aFHad afarg § wfuafsg €t 2

(2)  =H FeEied AN Ta e Seal
(3)  zifvele wedl &1
(4) A T E|

Options:-

«1, Option ID :- 977,

« 2, Option ID :- 978,

« 3, Option ID :- 979,

« 4, Option ID :- 980,

Answer Given:- 2, Option ID : -978
Question ID:- 246

What is the purpose of assessment in school education ?
(1) To measure ability of understanding

(2)  To assess the subject knowledge

(3)  Remediation and counselling
(4

To find out week areas of the child
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T foren o sEem A gheE § 7
(1)  F&% 1 A 1 A9

(2) AT T = eI

(3)  HETHE T W

(4)  AlcThl o gael 98l SAHAl

Options:-

« 1, Option ID :- 981,

« 2, Option ID :- 982,

« 3, Option ID :- 983,

« 4, Option ID :- 984,

Answer Given:- 3, Option ID : -983
Question ID:- 247

The students can learn better through the activities :
(1)  Conducted in school
(2]  Conducted out side the school

(3)  Involvement of students in various comumunity related program
(4)  School laboratory

fagmeft freifea § & T FEwar & TeaT 9 sedl AT 9d #7 T 7
(1) Termers | siad

(2) fasmem | = sTafea

(3)  fafv= mngeifaes wrdwal 0 ffE = o

~

(4) TIIETT i G

Options:-

«1, Option ID :- 985,

» 2, Option ID :- 986,

« 3, Option ID :- 987,

«» 4, Option ID :- 988,

Answer Given:- 3, Option ID : -987
Question ID:- 248

Which of the following quality is essential among school leaders ?

(1) Democratic attitude

(2)  Transformation leadership
(3)  Dictatorship

(4)  Servant leadership
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forgarerd & Fareti § i o 9 fm 7o 1 2 s1f7emd 27

(1) =mwditas AfvFE
(2) FaER TG
(3)  AFIEIED

(4)  ARRL-AgEA
Options:-

« 1, Option ID :- 989,

« 2, Option ID :- 990,

« 3, Option ID :- 991,

« 4, Option ID :- 992,

Answer Given:- 1, Option ID : -989
Question ID:- 249

What should be the quality of school development plan ?

(1)  Adequate fund should be provides

(2)  Teachers training program to be carried out

(3)  Should have scope tor student activities

(4) It should take care of all living and non-living resources for the healthy development of the
school

fqared TaTH AT & oa #4118 9ned 7

(1) o fafert qem =1 =t =nfen )

(2)  Torerss Afwero e rafsa (5 S e |

(3) Tegmell & FrRa & e T aEe 2 aE)

(4)  =HH el & i feh o AU gsitd 1 Fella 2El Haree] 1 =99 vl s AiE |
Options:-

«1, Option ID :- 993,

« 2, Option ID :- 994,

» 3, Option ID :- 995,

« 4, Option ID :- 996,

Answer Given:- 4, Option ID : -996
Question ID:- 250

What is the quality of good time-table in school ?

(1) Tt should take care of cocurricular activities

(2) It should take care the requirement of teachers, students and administration
(3) Tt should take care of leisure hime activities

(4) It should take care of exam schedule
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foee™ o S99 AHd-aifea | #491 0 21 =18, ?
(1)
(2)  THH =TT, Taanfe 3T W F ATl 5 SAH T WA e |
)
)

T HE-TTZA=A ] A TE] S A1 |

i

(3) THEH FEHT R WA H R S A Tfafaten w5 e waE s e
(4

A qlis H1 AT ($124A ) 1 A Tl SHl Fiel |

Options:-

« 1, Option ID :- 997,
« 2, Option ID :- 998,
« 3, Option ID :- 999,

« 4, Option ID :- 1000,
Answer Given:- 1, Option ID : -997

Subject : CCLE SOL PE_Q71-Q80_PGTECO

Question ID:- 251

What is dysgraphia ?

(1) Imability to speak
(2)  Inability to learn
(3)  Inability to write
(4)

Inconsistant use of letters

(1) =% ST

(2)  ATET S7ErEA

(3) TTE ST

(4) AV T SETT TR

Options:-

«1, Option ID :- 1001,

« 2, Option ID :- 1002,

« 3, Option ID :- 1003,

« 4, Option ID :- 1004,

Answer Given:- 3, Option ID : -1003
Question ID:- 252

What is the Quantum of Punishment Prescribed tor discrimination against Divvangjan ?
(1)  Fine upto Rs. 5 lakhs and imprisonment upto 5 vears

(2)  Fine upto Rs. 5 lakhs and imprisonment upto 2 years

3) Fine upto Rs. 50000 and mprisonment upto 1 year

(
(4)  Fine upto Rs. 1 lakh and mmprisonment upto 10 yvears

petprime.com



TreaiTrsT & =19 U5 E &1 1 290 B fd=t T o4 =1 JE9HE © 7
(1

2) 5O S T ® FHA AR 2 FY G F FREH
3)
)

—

(3) 5,000 %. TF FFHAA TR 1 9 F FEEH
(4

| @ %, 1 S[HIAT 30K 10 94 9% o1 RRIETH

Options:-

«1, Option ID :- 1005,

« 2, Option ID :- 1006,

« 3, Option ID :- 1007,

« 4, Option ID :- 1008,

Answer Given:- 3, Option ID : -1007
Question ID:- 253

What is the major challenge in schools to address mental health issues among children ?
1)  Lack of Infrastructure

7_) Lack of Funds

3)  Lack of Protessional Counsellers

4)  Lack of will to do

THe | ATl Fl AEHE HEE Gas TRl & FaT H T 72 ghl © 7
(1)  SHAFHEA F1 A9E
(2) Tl 1 wemE
(3)  SHAHIF WHEAls i wH
)

T T FI TE31 T8l 2l

Options:-

«1, Option ID :- 1009,

« 2, Option ID :- 1010,

« 3, Option ID :- 1011,

» 4, Option ID :- 1012,

Answer Given:- 3, Option ID : -1011
Question ID:- 254

Suggest one example of creating partmership with the industry.
(1) Orientation Programmes

) Schoel visit to Industry as a study tour

) Through vocational traming
)

Industry shares the resources with the schools
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TE o A9 AGBER & A5 # FEiEd § 9 T Sael YEd ot |

(1) 9@ wrEEEd

(2) A IR % B0 N fFaed w5 S| ° A

(3)  FIFEEITE Qi9Em R T

(4)  3E k] (H2Ad] & 1 9 HEAT A B ey

Options:-

«1, Option ID :- 1013,

« 2, Option ID :- 1014,

« 3, Option ID :- 1015,

« 4, Option ID :- 1016,

Answer Given:- 2, Option ID : -1014
Question ID:- 255

What is significance of excursion in school education ?
(1) Entertainment

(2)  Promotes belomgingness among the children

(3)  To break menetany

(4)  Part of Project Work

Teramer=rt foren o foe707-510 =1 1 Heed & 7
i

) AR

2)  TEHH FEH W A BT S @
)
)

—

i

(L [-.]‘ﬂf.\iil a':—l- ‘]ﬂ_r:[ E’ET qu’"'

(4

QTS 1 F E

Options:-

«1, Option ID :- 1017,

« 2, Option ID :- 1018,

« 3, Option ID :- 1019,

« 4, Option ID :- 1020,

Answer Given:- 2, Option ID : -1018
Question ID:- 256

What 1s the ‘Living corner in school” ?
1) Aquarium
2y Park
3] Garden

) Plav tield

¢
(

(3
(4
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(4)  Eol & HIH

Options:-

«1, Option ID :- 1021,

« 2, Option ID :- 1022,

« 3, Option ID :- 1023,

« 4, Option ID :- 1024,

Answer Given:- 3, Option ID : -1023
Question ID:- 257

What is the disadvantage of self assessment ?

(1) Reluctant to accept weak areas of the school
(2)  Unhealthy comparison with other schools
(3)  Selt contented attitude

(4)  Schools tend to be brased

- #TeT H A B 7

(1) 39" [am7er = gae 987 B WhE 1 H 7 @l 2 |
(2) T EeEl WY = e T8 el e |

(3)  FH H@ FT A |

(4)  Tomrerl § uardiE gl &1 s £ ggid ddl 2

Options:-

«1, Option ID :- 1025,

« 2, Option ID :- 1026,

« 3, Option ID :- 1027,

« 4, Option ID :- 1028,

Answer Given:- 3, Option ID : -1027
Question ID:- 258

NCF 2005 recommends :

) Developments of school infrastructure
2} Better tunding tor school education

3)  reduding teacher pupil ratio

4)  comnecting knowledge to lite
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TTHTIE (T2 9Ea=d ®=90F1), 2005 T Feitea 0 9 5 et o 8 7

(1) Tezrer =1 AeET=E = T =
(2)  Toremer ¥ forer o for aear e
(3) R o S O w

(4)  FF #I STad 3 Hag HH]

Options:-

«1, Option ID :- 1029,
« 2, Option ID :- 1030,
« 3, Option ID :- 1031,

« 4, Option ID :- 1032,
Answer Given:- 4, Option ID : -1032

Question ID:- 259

The newly proposed design of school curriculum is :

(1)
(2)

(3

(4)

mn+24+2+1

+3+3+4

i
“d

5.3.;.3
+4+ 1

he
T

[ ]

= Ul

+

a2

ERIGEEIR I FZECIERGIEE RIS I ER R E T

(1y 10+ 2+2+1
(2) 5+53+53+4
(3) >+2+0+5
(4 4+3+4+4
Options:-

«1, Option ID :- 1033,
« 2, Option ID :- 1034,
« 3, Option ID :- 1035,

« 4, Option ID :- 1036,
Answer Given:- 2, Option ID : -1034

Question ID:- 260

RTE Act, 2000 sectiem 19 deals with :

(1)
(2)
(3)
(4)

Transter of students
Recruitment of teachers
Prohibition of unrecognized schools

Formation of school meanagement committec
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forer =1 safaerr sitafae, 2000 =7 99 19 H F=tEa § 9 s 3999 ey 7 87
1y Taenfeln =1 samEem

—

(2)  FEETIRI FI 0T
(3)  TR-WETE O faETeEl i afany
(4)  Taarers ys=A Amfd & e

Options:-

«1, Option ID :- 1037,
« 2, Option ID :- 1038,
« 3, Option ID :- 1039,

« 4, Option ID :- 1040,
Answer Given:- 4, Option ID : -1040

Subject : ECO_Q81-Q180_PGTECO
Question ID:- 261

What will be the value of Mode if value of Median is 35 and value of Mean is 30 ?

(1) 45
(2) 35
(3) 325
(4) 30

(1) 45

(2) 35
(3) 325
(4) 320
Options:-

«1, Option ID :- 1041,

« 2, Option ID :- 1042,

« 3, Option ID :- 1043,

« 4, Option ID :- 1044,

Answer Given:- 1, Option ID : -1041
Question ID:- 262

Marks obtained by nine students in economics are the tollowinge
E o]

500, 38, 62, 63, 06, 69, 71, 72 and 75, What will be the Median Marks ?

(1) 63
(2) 66
(%) 69

1) 71
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v Taug T 0 BT o0 9T 51 TFEE ©
50, 58, 62, 63, 66, 69, 71, 72 TF 75

ez $TF 1 T 1 TR

(1) 63
(2) 66
(3) 69
(4) 71
Options:-

«1, Option ID :- 1045,

« 2, Option ID :- 1046,

« 3, Option ID :- 1047,

« 4, Option ID :- 1048,

Answer Given:- 2, Option ID : -1046
Question ID:- 263

The Mean marks of 100 students were tound to be 50. Later on it was tound that a score ot 535 was
misread as 85 What will be the correct value of Mean ?

(1) 45.3
(2) 487
(3)  49.7
(4) 505

100 TI=nT=1 oF 311 &1 AT 319 50 99 =1 =I5 § 99 9 T TF #1F F 55 F 7™ T 3 85 THE
T o711 W1 ] HE oA FE

(1) 45.5
(2) 48.7
(3) 49.7
(4) 50.5
Options:-

«1, Option ID :- 1049,
» 2, Option ID :- 1050,
« 3, Option ID :- 1051,
« 4, Option ID :- 1052,
Answer Given:- 3, Option ID : -1051

Question ID:- 264
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Followings are the Marks of 10 students in statistics in class 12 examination :
48, 50, 36, 48, 72, 90, 47, 60, 48, 36.
What will be the value of Mode ?

(1) 36
(2) 48
(3) 50
() 47

AT FAT F Wi ° Wi A O 10 f9EieE o F FeiatEd €
48, 50, 36, 48, 72, 90, 47, 60, 48, 3%
FAEAT ] oA 1 26 2

(1) 36
(2) 48
(31 50
(4) 47
Options:-

«1, Option ID :- 1053,
« 2, Option ID :- 1054,
» 3, Option ID :- 1055,

« 4, Option ID :- 1056,
Answer Given:- 2, Option ID : -1054

Question ID:- 265

[den’rif_\f the correct formula of Harmonic Mean ;

D sx-n

B yasx)

=
I
>
+|

(4) %
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D sx-

NX
Options:-

«1, Option ID :- 1057,

« 2, Option ID :- 1058,

« 3, Option ID :- 1059,

« 4, Option ID :- 1060,

Answer Given:- 2, Option ID : -1058
Question ID:- 266

What will be the value of standard deviation of the tollowing series ?
10, 20, 30, 40, 530, 60, 70

(1) 10
(2) 15
(3) 20
(4) 30

freAfefEd AR & oW faaea @ ger 321 21 ?
10, 20, 30, 40, 50, o0, 70

(1y 10
(2) 15
(3) 20
(4) 30
Options:-

«1, Option ID :- 1061,
« 2, Option ID :- 1062,
« 3, Option ID :- 1063,
« 4, Option ID :- 1064,
Answer Given:- 1, Option ID : -1061

Question ID:- 267
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Time reversal test is satsfied when ?
() Py xPy=0

(21 Pyl >1

(3) Py =xP,=1

(4) Pm R T

TP — Tkl AT W 2 L A

(1) Dy xlyg=0

(2) Py =Py > 1

(3) Py =Py =1
(4) Py =Py <1

Options:-

«1, Option ID :- 1065,
» 2, Option ID :- 1066,
« 3, Option ID :- 1067,
» 4, Option ID :- 1068,
Answer Given:- 3, Option ID : -1067

Question ID:- 268

Which of the following is/are correct ?

(A)

(B)

In the short-run, As long as average product increases, marginal product is greater than the
average product.

The average product starts declining betore the marginal product.

(1)  Only (A) is correct

(2)  Only (B) is correct

(3)  Both (A) and (B) are correct
(4)  DBoth (A) and (B) are incorrect

A S A FH-T i 22

(A) 3TCTRA T, 54 T 3104 3078 98 @ ﬁW%FﬁT{'lr_dﬁt'-ilr: A T |

(B) ST 39T, i 307E J UEe] Fa] E‘E S E |

(1) T (A) FEl &

(2) AT (B) R E

(3)  (A)TE (B) = wEE

(4 (A) T (B) = To@ &
Options:-

«1, Option ID :- 1069,
» 2, Option ID :- 1070,
« 3, Option ID :- 1071,
« 4, Option ID :- 1072,

petprime.com



Answer Given:- 1, Option ID : -1069

Question ID:- 269

Which of the following is incorrect ?

(b
(2)
3)

(
(4)

TIHC = AFC x quantity
AVC = TVC/output
SAC = AVC + ATC
SMC = TC/quantity

frefatza 4 3 &\ 78 724§ 7

(D
(2)
(3)
(4)

Option

TFC = AFC ¥ quantity (HFED)
AVC = TVC /output (FTAE4)
SAC = AVC + AFC

SMC = TC/quantity { HT41)

Si-

«1, Option ID :- 1073,
» 2, Option ID :- 1074,
» 3, Option ID :- 1075,

« 4, Option ID :- 1076,
Answer Given:- 4, Option ID : -1076

Question ID:- 270

In a Cobb - Douglas production function :

4=y

i + 7\_‘}5

It c+B>1, then the production function exhibits :

(1)
(2)
(3)
()

Increasing returns to scale
Constant returns to scale
Decreasing returns to scale

Canmnot be determined on the basis of this mformation.

ek <k

@ ST 38T e o

Ll = -llx + 1’!"3

A o+ B> 1, T SRS Fer 9 ©

(1)
(2)
(3)
(4)

Option

QU &l A2l dfde |
T 1 Ter ufama |
YO+ 1 F2d] gidFe |

TH Ak AEE W A 781 o S weR |

Si-

«1, Option ID :- 1077,
» 2, Option ID :- 1078,
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« 3, Option ID :- 1079,

« 4, Option ID :- 1080,
Answer Given:- 1, Option ID : -1077

Question ID:- 271

In a rectangular hvperbola demand curve, the price elasticity of demand will be :

(1) pertectly elastic

(2) perfectly inelastic
3)  unitary elastic

(
(4) inelastc

T T e EEET] T 99 §, T | e

(1) 90 of=Er
(2) Ui TEEER
(3) IHE FAEER
(4) Hel=ER
Options:-

«1, Option ID :- 1081,

« 2, Option ID :- 1082,

« 3, Option ID :- 1083,

« 4, Option ID :- 1084,

Answer Given:- 3, Option ID : -1083
Question ID:- 272

Correct formula of Cross elasticity of demand is :

b A0 o v
W Taps Ty

oA Ty
A Oy
B ap, Py

AQ " Q y

() APy P,
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oAy My
W ap "oy
oAy Ty
B apy T,
20, Q
3
29, Oy
() APy Pz,f

Options:-

«»1, Option ID :- 1085,
« 2, Option ID :- 1086,
« 3, Option ID :- 1087,
« 4, Option ID :- 1088,

Answer Given:- 2, Option ID : -1086

Question ID:- 273

Which ot the tollowing is not correct ?

() PX+P.Y=M

M.P,.

(2) MRs, = o
(3) MRS Py
o AN 1 = -
\\f PV\'

I P,
Y=EL~iX

(4) P, P,

fefefEa 5 | #5-9 72 78 ¢ 7
(1) P.X+P Y=M

MLP,
(2) MRS, = :
. vy P,
(3) MR Py
al Ao, = ——
Ve
M P
W YT
: P P,
Options:-

«»1, Option ID :- 1089,

petprime.com



« 2, Option ID :- 1090,

« 3, Option ID :- 1091,

« 4, Option ID :- 1092,
Answer Given:- 2, Option ID : -1090

Question ID:- 274

Which of the tollowing is/are correct regarding cardinal utility analysis ?

(A)
()

(1
(2)
(3)
(4)

The mareinal utlity diminishes with increase in consumption of a commodity.
o 2 J

Marginal utility can not be negative

Only (A) is correct

Only (B) is correct

Both (A) and (B) are correct
Both (A) and (B) are mcorrect

TTUHTET=RR ST favemT = T o fFetetEs o 9 #H-91 98§ 7

(A) UF FE F ITE ghg wE F WMU-HY IHY oo e S SuEia gad 1§
(B) W= AT HONCHS 781 &1 #%d| |

A fou U she | W S sl A

(1) #ad (A) T8 2

(2) Ao (B) HEI E|

(3)  (A) T (B) =T FEE

(4)  (A) UH (B) S e 21

Options:-

«1, Option ID :- 1093,
« 2, Option ID :- 1094,

« 3, Option ID :- 1095,

« 4, Option ID :- 1096,
Answer Given:- 1, Option ID : -1093

Question ID:- 275

Which ot the tollowing is not correct ?

(b
(2)

(3)

(4)

The long run average cost curve is U shaped.

The downward sloping part of long run average cost curve corresponds mcreasing returns
to scale.

The upward sloping part of long run average cost curve corresponds decreasing returns to
scale.

Long run average cost curve cuts the long run marginal cost curve at its minimum point.
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frefatea 5 3 #9-7 7e T T 2

(1) ETEFwER A\ a0 7% U SRR 26 2|

(2) EIEEIAA T AN 99 F A ST A g3 9 Y6 F Agd Ao i S ©
(3) ST A AN A R HI SN Sedl geT TR THH Al Wit S 9l € |
(4) ST 2THG AN e lHehlel [ HIH A dd b SHE A Heg T el 2 |
Options:-

«1, Option ID :- 1097,

« 2, Option ID :- 1098,

« 3, Option ID :- 1099,

« 4, Option ID :- 1100,

Answer Given:- 4, Option ID : -1100
Question ID:- 276

In case of Perfect Competition, which one is not correct ?

(1)  Margimal revenue is equal to the price.

~J

- Averave revenue 1s higher than the price.
o ()

R |

{
(3)  Averaye revenue is equal to the price.

4) At equilibrium, Market demand 1s equal to Market supply.

07 ST F Ha H, w1 TE @ E
(1)  EH= A HiHd % 99 241 2|

(2) AT AT FEG W A A
(3)  STEd STFTH FTHd % HHE 2 T

(4) e wET H, AR W A 9fd F wue e # )

Options:-
«1, Option ID :- 1101,
« 2, Option ID :- 1102,
« 3, Option ID :- 1103,
« 4, Option ID :- 1104,
Answer Given:- 2, Option ID : -1102
Question ID:- 277
A binding floor price leads to :
(1) Excess demand
(2)  Lxcess supply
(3) Shortage of demand
(4)

Shortage of supply
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e Y& =Adq hiTd & FE
(1) | e g
(2y  gfd = Erm
(3) | AT R
(4) gfd F =wH F

Options:-

«1, Option ID :- 1105,
« 2, Option ID :- 1106,
« 3, Option ID :- 1107,

» 4, Option ID :- 1108,
Answer Given:- 3, Option ID : -1107

Question ID:- 278

It Price Ceiling is bindine in wheat market, it will lead to a situation of
or (el

-’

(1)  Shortage of demand
(2)  Shortage of supply
(3)  Excess demand

(4)  Excess supply

Ifg 78 & TR § wAfugan Fimd et g
(1) ¥ H 1 2 |

2y yfd H w2

(3) W7 =AfE 1 T

petprime.com

(4) 9 safeerr =i feafa =)

Options:-

«1, Option ID :- 1109,
« 2, Option ID :- 1110,
« 3, Option ID :- 1111,

« 4, Option ID :- 1112,
Answer Given:- 1, Option ID : -1109

Question ID:- 279

Given the following demand and supply equations :
Q, = 1200-P

Q. = 900+ 2P

What will be equilibrium price ?

(1) 100
(2) 200
(3) 300

(4) 700



Q= 1200-p

Q, = 900+ 2P

SATAT | Hqer hIHd #2721 2
(1) 100

(2) 200

(3) 300

(4) 700

Options:-
«1, Option ID :- 1113,
» 2, Option ID :- 1114,
« 3, Option ID :- 1115,
» 4, Option ID :- 1116,
Answer Given:- 1, Option ID : -1113
Question ID:- 280
[t the total expenditure on a good and its price move in opposite direction, the price elasticity will
be :
(1) Lygualtol
(2} More than 1
(3)  Less than 1
(4)  Zero

It UF T W T =E U9 59 T B #im fE@a feen § =e 9 i A g
(1) 17 "OH

(2) 19 whw

(3) 1¥ ®FH

(4) A

Options:-

«1, Option ID :- 1117,
« 2, Option ID :- 1118,
« 3, Option ID :- 1119,

« 4, Option ID :- 1120,
Answer Given:- 2, Option ID : -1118

Question ID:- 281

The shape of unitary elastic demand curve will be :

(1)  Rectangular hyperbola

(2) Horizontal

(3)  Vertical
)

(4) Linear
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(1) e gEusien
(2)  fafas (Horizental)
(3) A (Vertical)

(4 HE1 (Linear)

Options:-

«1, Option ID :- 1121,

« 2, Option ID :- 1122,

« 3, Option ID :- 1123,

« 4, Option ID :- 1124,

Answer Given:- 1, Option ID : -1121
Question ID:- 282

Which of the tollowing is true in case ot Gitten goods ?
(1) Income effect = Substitution eftect

Income effect > Substitution effect

(2)  Substitution effect > Income effect
3)

(4) Income and substitution eftect work mn same direction.

FrEa =vd & Haw J Taafetliesd H 9 - w8 2 7
(1) M 949E = JIaE 99=
(2)  wfg=aras gumE > 5 gy
(3) A 9 > A 9
(4) =7 UF A= T9E TF 2 fen 6 =ew 2

Options:-

«1, Option ID :- 1125,

» 2, Option ID :- 1126,

« 3, Option ID :- 1127,

» 4, Option ID :- 1128,

Answer Given:- 2, Option ID : -1126
Question ID:- 283

The demand for a good and the price of its complementary goods will be
(1) Positively

(2) Negabnvely

() Will have no relation

(4) Positively and proportionally

related.
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T T I H TS ITHE TF 9 I H AT HIAA

(1) = =9 H |

(2)  EOTERE ET |

(3) T RE HaW TR E
)

(4

ST U4 sHUId €9 91

Options:-

«1, Option ID :- 1129,
« 2, Option ID :- 1130,
« 3, Option ID :- 1131,

« 4, Option ID :- 1132,
Answer Given:- 2, Option ID : -1130

Question ID:- 284

Suppose X and Y are substitute goods and if Price of Y increases, the demand curve of X will :
(1) Shift rightward

(2)  Shitt lettward

(3)  Remain same

(4) Indeterminate

oM % X TF Y S e Feq E s AT Y w w a2 X o A A o
(1) =1 &1 S faase 2

(2) AT =T SR e g

(3) E AsAE A8 SR |

petprime.com

(4) SO

Options:-

«1, Option ID :- 1133,
« 2, Option ID :- 1134,
» 3, Option ID :- 1135,

«» 4, Option ID :- 1136,
Answer Given:- 1, Option ID : -1133

Question ID:- 285

L s F ~HIc e - AQ 5 f. C L are _.. as o
The demand functions of two consumers A and B are given as

d, =10-D

dy=15-P

It the price is more than 15, the quantity demanded by A and B respectively are :
(1) Oand 1

(2) land 0

(3) Sand 0

(4) O and 0




= UM A TS B o T Fold 36 TN f9d T E

-.1:_\='IU—P

dy = 15-P

1fz e 15 9 AfF 5 @ A U B g w9 [ T A E

(1) 0715 1
2y 17E0
(3) 5UED0
(4) 0TI 0
Options:-

«1, Option ID :- 1137,
» 2, Option ID :- 1138,
« 3, Option ID :- 1139,
« 4, Option ID :- 1140,
Answer Given:- 4, Option ID : -1140
Question ID:- 286
Which ot the tollowing is not correct in case ot Pertect Competition ?
(1) Large Market power
(2)  Homogenous product
(3)  Perfect information

(4)  Free entry and exit

ol R % Ha | fetatee 6 5 5 E-H1 =6 A
(1)  =AferF are wiw

(2)  HEET AE

(3) IO AR

(4)  HeH SR

Options:-

«1, Option ID :- 1141,

« 2, Option ID :- 1142,

« 3, Option ID :- 1143,

« 4, Option ID :- 1144,

Answer Given:- 1, Option ID : -1141

Question ID:- 287
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Which of the folh’m-'ing Conditions is/are true for a profit maximizing, perfectl}' competitive firm,
when profit 1s positive 7

(A) MR = MC

(B)  MC curve is downward sloped at the profit maximizing level of output.

(€)  Price 18 greater than AVC in the short run.

(1)  Only (A)

(2)  Only (A) and (B)
(3)  Only (A) and ()
(4) Al (A), (B) and (C)

WA A AT 2, Al eAfetEd § W B E-E T UF AfEay ol 9 389 =31, 90 i i F
(A) MR =MC

(B)  SiHekdn @14 o Icama W fog W MC @ A= ehl 3i [ g3 enm

(C) o9 § FHa AVC H #1792 §)

1) =Hael (A)

2) A (A) TH (B)

) AT (A) T ()
4) @l (A), (B) ud (O)

Options:-

«1, Option ID :- 1145,
» 2, Option ID :- 1146,
« 3, Option ID :- 1147,

« 4, Option ID :- 1148,
Answer Given:- 3, Option ID : -1147

Question ID:- 288

Which of the tollowing reason is/are responsible for shift the supply curve of a firm towards
left ?

(A)  Technological Progress.

(B) Increase in input Prices.

(C)  Imposition of a unit tax.

(1) Only (A)

(2} Only (A) and (B)
(3)  Only (B) and (C)
(4 Only (A) and (C)
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UF FH Al Y o 1 A0 SN e A SeErE R -
(A) TFAER WM

(B) T ®H4d H 35

(C) T IFE I H A

(1)  Fdd (A)

(2) AT (A) TH (B)
(3) e (B) 1 (C)
(4) FFA (A) TE (C)
Options:-

«1, Option ID :- 1149,
» 2, Option ID :- 1150,
« 3, Option ID :- 1151,
« 4, Option ID :- 1152,
Answer Given:- 3, Option ID : -1151
Question ID:- 289
In Pertect Competition, the demand curve taced by a tirm is :
(1)  Pertectly elastic
(2)  Perfectly inelastic
(3)  Unitary elastic
(4) Inelastic

U7 FiTAITTE . T R R 60 A9 €
(1) I9@: FEER

(2) T AAEER

(3) THEE AR

(1)  Hcd=ER

Options:-

«1, Option ID :- 1153,

« 2, Option ID :- 1154,

« 3, Option ID :- 1155,

« 4, Option ID :- 1156,
Answer Given:- 1, Option ID : -1153
Question ID:- 290

Given the supply curve, it demand curve shifts rightward ; the equilibrium quantity and equilibrium
price respectively will :

(1) increase and decrease

(2} decrease and increase

(3)  decrease and decrease

(4) increase and increase
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I 7 fer i W, wfE T FF o w3 w6 fEwEa € 9 Heen 99 U8 daad G Fw9
(1) = wE
(2) = T A
(3) T U
(4) = =

Options:-
«1, Option ID :- 1157,
« 2, Option ID :- 1158,
« 3, Option ID :- 1159,
« 4, Option ID :- 1160,
Answer Given:- 4, Option ID : -1160
Question ID:- 291
In a Pertectly Competitive Market, each tirm employs labour upto the point where Marginal
revenue product of labour is :
(1) equal to the price of good produced by the firm
(2)  equal to wage rate
(3)  less than the wage rate
(4) both1and 2

T g GfaAfen =eR o, gors T 39 o 9 46 B ARl el 99 F Jie S S
(1) ¥ BT Jeamfad % & Hi9a & T a0

(2) TG = HEE R
(3) TSR T A FH A
(4) 1 WF 2=

Options:-
«1, Option ID :- 1161,
« 2, Option ID :- 1162,
« 3, Option ID :- 1163,
» 4, Option ID :- 1164,
Answer Given:- 1, Option ID : -1161
Question ID:- 292
It 25 percent increase in price of a good leads to 15 percent decrease in its quantity demand then
the price elasticity of demand will be :
(1} Less than 1
(2) Equaltol
(3)  More than 1
(4)  LEqualto =
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= o w4 T 25 giave 375 29 W S Wi E A 15 uiaen #1 e § d 50 # i e
feraer 2t 7

(1) 5%E Y &H

(2) TEE & AHA

(3) TFE 9 i

(4)  FHAd & HHH

Options:-
«1, Option ID :- 1165,
« 2, Option ID :- 1166,
« 3, Option ID :- 1167,
« 4, Option ID :- 1168,
Answer Given:- 1, Option ID : -1165
Question ID:- 293
When AR Carve is downward slopping, MR curve will be ?
(1) Steeper than the AR Curve
(2) [latter than the AR Curve
(3)  Tarallel to the AR Curve
(4)  Both 1 and 3.

A HATEA (AR) AATH T FHLH A F 20 2 A HE AT (MR) T
(1) T9d 5T (AR) T 1 #ATF I 50 erll |

(2) #Ed T (AR) T H F921 207 |

(3) AT S TR o T e

(4) 1 @R 3 EFE

Options:-

«1, Option ID :- 1169,

« 2, Option ID :- 1170,

« 3, Option ID :- 1171,

« 4, Option ID :- 1172,

Answer Given:- 1, Option ID : -1169
Question ID:- 294

In a Pertectly Competitive Market, the Total Revenue increases at -

(1)  Increasing rate

(2)  Decreasing rate
3)  Constant rate

(
(4)  Does not increase
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W I WS AR e A g ©

) T BT H|
(2) Fd LT HI

) femzma

) el e E
Options:-
«1, Option ID :- 1173,
« 2, Option ID :- 1174,

« 3, Option ID :- 1175,

« 4, Option ID :- 1176,
Answer Given:- 3, Option ID : -1175

Question ID:- 295

Suppose market price of a commodity increases from Rs. 5
by a firm increases by 15 units, The price elasticity of supply 15 0.5

firm ?
(1y 30
(2) 153
(3) 10
(49 5

T o o A T SIS SRITA 5 B W AEeRl 20 F94 B Sl @
I HEH 15 T H] g5 8 51 & 1l Rl FRHa A 0.5 2 | HH o TR S0 & A T

(1) 30
(2) 15
(3) 10
(4) 5
Options:-

«1, Option ID :- 1177,
« 2, Option ID :- 1178,
« 3, Option ID :- 1179,
« 4, Option ID :- 1180,
Answer Given:- 3, Option ID : -1179

Question ID:- 296

In the short run, shut down point of a tirm is when ?

(1) P »AVC
() P < AVC
(3) P > SMC

(1) T =5SAC

to Rs. 20. As a result quantity supplied
. What 1s the initial output of this

ARy nmmwwmmaﬁﬁqﬁl )

77

iMme.Ccomnm
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TeIHIA |, TF 1 F 9= fag o €, 74 ¢
(1) P »AVC

(2) P < AVC

(3) P » SMC

(4) P =5SAC

Options:-

«1, Option ID :- 1181,

« 2, Option ID :- 1182,

« 3, Option ID :- 1183,

» 4, Option ID :- 1184,

Answer Given:- 1, Option ID : -1181

Question ID:- 297

Which of the following is/are correct ?

(A) A Consumer’s perterences, in general, can be shown by an inditference map.
(B) A Consumer’s preferences, in general, can also be shown by a utility function.
(1)  Only (A)

(2)  Onlv (B)

(3) Buth A) and (B)

(4)  Neither (A) nor (B)

THfATEd B H F -1 JE& 2 7
(A) U U 1 WHTFA, QRO SIS TEiEs F G g9 S
(B) U SO w1 WA I, |ER; Tk SO Bl & gE | 59 S Hehd] € |

(1)  Fa (A)

(2) e (B)

(3)  (A)TH (B) =AI
(4) T (A) HEAF (B)
Options:-

«1, Option ID :- 1185,
« 2, Option ID :- 1186,
« 3, Option ID :- 1187,
« 4, Option ID :- 1188,
Answer Given:- 3, Option ID : -1187
Question ID:- 298
Budget deficit is :
(1) the difterence between all reciepts and all the expenditure
(2)  fiscal deficit minus repayment of loan.
(3)  fiscal deficit minus interest payments

(4)  the difference between revenue receipts and revenue expenditure.
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Foi2 HJ12] a6 ¢ -

(1) Teft e ud =t =/ o == F s
(2) USRI =12~ T ] AN

(3) TSR AT - S AT

(4) T Wil ud e o1 & die s
Options:-

«1, Option ID :- 1189,
» 2, Option ID :- 1190,
« 3, Option ID :- 1191,

« 4, Option ID :- 1192,
Answer Given:- 1, Option ID : -1189

Question ID:- 299

The Gini Ceefficient is used to measure :

(1) Inflation rate

(2)  Dudget deficits

(3)  Unemployment rate

(4) Inquality of income

T o = we TR e o feru T =i 2 2
(1) HEFwE

(2)  FE A

(3)  EER

(4) FHE Fl FTHAMAI

Options:-

«1, Option ID :- 1193,
« 2, Option ID :- 1194,
« 3, Option ID :- 1195,

« 4, Option ID :- 1196,
Answer Given:- 4, Option ID : -1196

Question ID:- 300

In the situation of Liquidity trap, which is correct ?

(A)
()

(1
(2)
(3)
(4)

Interest rates are high

Moenetary policy becomes meffective

Only (A)

Only (B)

Both (A) and (B)
Neither (A) nor (B)

petprime.com



T Sl 1 STawe o, A Wl 7
(A) AT T AEIH B |

(B)  wifaek Aifd eyl 21 Sirdl 1

(1) Fad (A) |

(2) 4 (B)I

(3)  (A) TS (B) <AL

(4) T (A) 3L A (B))

Options:-
«1, Option ID :- 1197,
« 2, Option ID :- 1198,
« 3, Option ID :- 1199,
« 4, Option ID :- 1200,
Answer Given:- 2, Option ID : -1198
Question ID:- 301
Who ameng the tollowing was the Chairman of the National Commission on Farmers, constituted
by the UPA Government in November 2004 7
(1) Abhijit Sen
(2)  Jagdish Bhagwaty
(3)  Ashok Mathur
(4) M. 5 Swaminathan

AL 2004 T 91T, TIER 5 Tiod FUE W TE FHITA & 5758 HeietEd § F @ J 7

(1) =iasfla &4
(2) SR Sl
(3)  S7EIT AT

(4) TH.TH EEHEEA

Options:-

«1, Option ID :- 1201,

» 2, Option ID :- 1202,

» 3, Option ID :- 1203,

« 4, Option ID :- 1204,

Answer Given:- 1, Option ID : -1201

Question ID:- 302

Options:-
«1, Option ID :- 1205,
« 2, Option ID :- 1206,
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« 3, Option ID :- 1207,
« 4, Option ID :- 1208,
Answer Given:- 1, Option ID : -1205

Question ID:- 303

Options:-

«1, Option ID :- 1209,

« 2, Option ID :- 1210,

« 3, Option ID :- 1211,

« 4, Option ID :- 1212,

Answer Given:- 4, Option ID : -1212

Question ID:- 304

frefafEa §, 3 #9-1 908 TR F1 TN T974 1 T2 T8 3 90 ?

(1) TSI H FHH H
(2) T Al o
(3) W Fhg F

(4) = H FIE A

Options:-

«1, Option ID :- 1213,

« 2, Option ID :- 1214,

« 3, Option ID :- 1215,

« 4, Option ID :- 1216,

Answer Given:- 2, Option ID : -1214

Question ID:- 305

Which of the tollowing is not a reason tor detlation ?

(1) Reduction in money supply
(2)  Reduction in mvestment spending
(3)  Reduction in credit availibility

(4) Reduction in policy rates by RBI

TAfetEd 5 | -9 s=99hd & FE0 798 ¢ 7

(1) 1 i =
)y e =
(3) HE FI SIS H FHH
) STLELENE. (RBY) gM Hifd <3 o #i
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Options:-

«1, Option ID :- 1217,

« 2, Option ID :- 1218,

« 3, Option ID :- 1219,

« 4, Option ID :- 1220,

Answer Given:- 4, Option ID : -1220
Question ID:- 306

Phillips curve shows the relationship between :
(1) Rate of unemployment and rate of interest
(2)  Rate of unemployment and rate of GDP growth

(3)  Rate of unemployment and rate of poverty

(4) Rate of unemployment and rate of mflation

(1) ST 1 27 U8 =1 37 o &4 |

(2)  SUEETE @l gt ud sl gl gfg g kAl
(3) ESERI ] 2 Ud T 3k | |

(4)  SSEIRT i & ug qEIewld 23« |

Options:-

«1, Option ID :- 1221,
« 2, Option ID :- 1222,
« 3, Option ID :- 1223,

« 4, Option ID :- 1224,
Answer Given:- 4, Option ID : -1224

Question ID:- 307

Which of the following is/are not correct about Banking Ombudsman scheme ?

(A)  This scheme was introduced by RBI (Under Section 35A) n 1995

(B)  This scheme is for redressal of Customers Complaints agamst banks

(C)  Under this scheme banks do not have the option to appeal before the appellate

(1)  Only (A)
(2)  Only (B)
(3)  Only ()
(4)  Only (A) and (C)
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AfeT A T F HEy 1, e d A wE-wE 18 el 2

(A) 7% AT ST ST, 51 ( AT=96-35A F ) o4 1995 | &0] foan )

(B) % A "kl & T ST & Edl % feEnm &+ fag §

(C) =9 ASA % A7 51 % ITH FAAd2 AT F HHa 70 F F1 fashed I0e= 78] 2 51

(1) A (A)
(2) a7 (B)
(3)  Fad ()
(4) e (A) T (O)

Options:-

«1, Option ID :- 1225,

» 2, Option ID :- 1226,

« 3, Option ID :- 1227,

» 4, Option ID :- 1228,

Answer Given:- 4, Option ID : -1228
Question ID:- 308

Which of the following is not correctly matched ?

List 1 List II
(Banks) (Headquarter)
(1)  Corporatien Bank _ Mangalore
(2} Bank of India _ Mumbai
(3)  Punjab National Bank _ Patiala
(4)  Allahabad Bank _ Kolkata

frfatea = = #=F- 92 foaam 128 g2

S T -1
(&) ( HEATeTT )
(1) M =% ) -
(3) H9E 4IEE 6 - —
(4) TAEER T _ U
Options:-

«1, Option ID :- 1229,
« 2, Option ID :- 1230,
« 3, Option ID :- 1231,
« 4, Option ID :- 1232,
Answer Given:- 4, Option ID : -1232

Question ID:- 309
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M. 5. Verma Committee was related to :
1) Rural development bank

2} Restructuring of rural banks

3)  Intlation targeting

4)  Monetary Policy Committee

(1) i fawe &
(2) T A TR
(3)  HerEhild @ed

(4) A= Hifa \@EE
Options:-
«1, Option ID :- 1233,
» 2, Option ID :- 1234,
« 3, Option ID :- 1235,
» 4, Option ID :- 1236,
Answer Given:- 2, Option ID : -1234
Question ID:- 310
Which of the following pair is not correctly matched ?
(1)  RBI- Lender of last resort
(2)  EXIM Bank - Financing export and import
(3)  ICICI - Public Sector bank
(4) NABARD - Rural development

frefafEa © 7 F9-9 52 = foem 98 8@ 7
(1)  HLELHAE, - Hldq HBoam

2)  EXIM de& - SPd ug f4aid o fad

3)

)

—

(3)  ICICI - &Sk &7 = &5
(4)  NABARD - ardivy fasm

Options:-

«1, Option ID :- 1237,

« 2, Option ID :- 1238,

« 3, Option ID :- 1239,

« 4, Option ID :- 1240,

Answer Given:- 3, Option ID : -1239

Question ID:- 311
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Which of the following statement is/are correct ?

(A)  RBI changes the repo rate every month to control the money supply in the economy.

(B)  Any change in the repo rate by RBI is a signal to banks to revise their rate of mnterest on
deposits and leans.

(1)  Onlv (A)
(2)  Only (B

(3)  Both (A

— ——

(A) and (B)
(4) Neither (A) nor (B)

freafafea & 7 =9 33 w6 78 ?
(&) SAd=rEE H gz 9fd % e F fau wrdr frsd &9 ufq @2 1 22 1 aged &l 2 |
(B) v s o 51 T 52 H Feeng Wi o (70 STH1 UE RY U8 2T 1 o (AU g U 39

(1) et (A)

(2) F9 (B)

(3)  (A)TH (B) 5FI
(4) T (A) 3T A F (B)

Options:-

«1, Option ID :- 1241,

« 2, Option ID :- 1242,

« 3, Option ID :- 1243,

« 4, Option ID :- 1244,

Answer Given:- 2, Option ID : -1242
Question ID:- 312

Effect of expansionary Monetary Policy by RBI is :
(1) Tt increases the cost of borrowing
(2) It decreases the Money supply

(3) 1t has no effect on rate of interest charged by commercial banks

(4) It mcreases the money supply

T e F% g famanaEner difges ifa #1 94 20

(1) SR =M = @vm o g

(2) T A F

(3)  HORICTE HeRi g o ATl =TS 2 WY 3EET RIE U TE
(4) g AfdHAE

Options:-

«1, Option ID :- 1245,

» 2, Option ID :- 1246,
» 3, Option ID :- 1247,
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« 4, Option ID :- 1248,
Answer Given:- 4, Option ID : -1248

Question ID:- 313

Choose the correct statement.
(A)  Banks were nationalised in India in 1969 and 1980.

(B) Nationalisation of Banks did bring financial inclusion

(1) Only (s
(2)  Only (B)

(3) Bnth (A) and (B) are correct
(4)  DBoth (A)

A) is correct

15 correct

A) and (B) are mcorrect

TN e T
(A)  WWd H 1969 WA 1980 4 =ikl sl il o 12 |
(B) =i F TRy H fafes wuuer = =mEn e

(1) ad (A) Tel &1
(2) A (B) 9E B
(3)  (A) WS (B) aHl =& #
(4)  (A) T (B) EF o &

Options:-

«1, Option ID :- 1249,
« 2, Option ID :- 1250,
« 3, Option ID :- 1251,

« 4, Option ID :- 1252,
Answer Given:- 3, Option ID : -1251

Question ID:- 314

Which of the following statement regarding Urjit Patel Committee is/are correct ?

(A)  This committee was appointed to examine the monetary policy ramework of RBIL

(B)  Thecomnuttee suggested to adopt the new CPLas nominal anchor for policy recommendation.
(C) It recommended that RBI Governor should not be the Chairman ot the Monetary Policy

Committee.
(1) Only (A) and (B)
(2)  Only (B) and (C)
(3)  Only (r‘\) and (C)
(4) Al (A), (B) and (C)
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Sied 92e A & Hay O fAeangd 3 F :E-97H Te 56 ¢

(A) T |Ef F1 7oA R o dF o i a2 o wem 5 e fEe e an

(B) =9 HAMM A 79 ST & 90 FEh® 1 A1 RN o 79 AHd W %0 ST 1 9808 od1 © |
(Cy == =fafa T fawfer i & fF vy fod 3% % 7 31 difew Aifa afafa @ ssre 78 2m =fan

(1) *aad (A) T (B)
(2) = (B) T (C)
(3) e (A) ud (C)
(4)  (A), (B) Ud (C) Bl

Options:-
«1, Option ID :- 1253,
» 2, Option ID :- 1254,
» 3, Option ID :- 1255,
« 4, Option ID :- 1256,
Answer Given:- 1, Option ID : -1253
Question ID:- 315
Which ot the tollowing is not correct ?
(1)  Banks do not earn any mterest on their CRR deposits with RBI
(2)  Open market operations of RBI is nothing but sale and purchase of govt. securities in open
market
(3)  Commercial banks are regulated by the RBIL

(4}  RBI has nothing to do with foriegn exchange reserves of the country

frefeafea © 7 =@ - w2 T g7

(1) = 3799 RBL & 9 CRR H | &[E 7 =75 781 A4 |
2)  RBI#i G A1 Fl WHAE 1 F2 T8 afcs G 9% § AR Jauqiad =1 %9 T T E
(3) AEEE A F RBI EW a1 = €

(4) < o fa=oll ga1 YuEE & RBI &1 i o341 481 & |

-

—

i

Options:-

«1, Option ID :- 1257,

» 2, Option ID :- 1258,

« 3, Option ID :- 1259,

« 4, Option ID :- 1260,

Answer Given:- 4, Option ID : -1260

Question ID:- 316
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Which of the following is/are correct about GDP deflator ?

(A)

(B)

(1)
(2)
(3)
(<)

It is a comprehensive measure of inflation.

It is derived as a ratio of GDP at current price to GDP at constant price.

Only (A)
Cnly (B)
Buth (A) and (B)

Neither (A) nor (B)

T A= REE F ey H = 0 ¥ F0-309 °E 8 7

(A) % HEFITG F UF FAT A9E ¢ |

(B) FH =] FITA H SISl a2 feorm Himal § 2 o A9 % w9 H e 96| f
(1)  TFF (A)

(2) = (B)

(3) ()T (B) T

(4) T (A) R AT (B)

Options:-

«1, Option ID :- 1261,
« 2, Option ID :- 1262,
» 3, Option ID :- 1263,

«» 4, Option ID :- 1264,
Answer Given:- 3, Option ID : -1263

Question ID:- 317

Which of the tollowing is/are correct about National Rural Livelihood Mission (NRLM) ?

(A)

(B)

(1
(2)
(3)
(4)

It is a poverty alleviation projectimplemented by Ministry of Rural Development, Govt. ot
India.

This scheme works through organising rural poor into Selt- Help Groups(SHG) and promote
selt employment.

Only (A)

Both (A) and (D)
Only (B}

Neither () nor (B)
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T THI ST fEeR faeE (NRLN & H949 9 = O 9 #0314 Tl 57

(A} TTHT faF S, IRA W EW ATad U A e T 8

(B) &% IS IV T WA T dl 998 (SHGs) % ®9 1 99aq Hidl § U8 e Rl Fgal ol
l

(1) Hae (A)

(2) (A)TE (B) =

(3) FFE (B)

(4) A (A) sl A &l (B)

Options:-

«1, Option ID :- 1265,
« 2, Option ID :- 1266,
« 3, Option ID :- 1267,

« 4, Option ID :- 1268,
Answer Given:- 2, Option ID : -1266

Question ID:- 318

Which of the tollowing statement is/are correct ?

(A)

(B)

r'JJ [ E] |—-

(1)
()
(3)
(4

o

The FERA of 1973 in India was replaced by FEMA w.e.t. June 2000 by Atal Bihari Vajpayee
Government.

This new act deals with foreign exchange civil offences.

Onlv (A)
Only (B)
Both (A) and (B)

Neither (A) nor (B)

frafafaa = = %47 e Wl © 2

(A) ==t Toaml arsal FEE o B HA 1973 % FERA & &1 54 2000 ¥ FEMA A § ==2el faar
RIEIN

(B) & 71 A faselt fafra fafaer sH 9 weifaa 21

(1) hde (A)

(2) Fae (B)

(3)  (A) T (B) =HI

(4) 4 (A) iR A &l (B)

Options:-

«1, Option ID :- 1269,
« 2, Option ID :- 1270,
« 3, Option ID :- 1271,

« 4, Option ID :- 1272,
Answer Given:- 1, Option ID : -1269

Question ID:- 319
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The Credit Linked Capital Subsidy Scheme is related to which sector :

(1)  MSME
(2) Heavy Industries

(3)  Adrport (Civil Aviation)
(4)  Agriculture

AT s et weE S T A g Heta B

(1)  UHUHUHE

(2) N R

(3) =R g0 (AR 33a)
(4)

Options:-

«1, Option ID :- 1273,

» 2, Option ID :- 1274,

« 3, Option ID :- 1275,

« 4, Option ID :- 1276,

Answer Given:- 1, Option ID : -1273
Question ID:- 320

The Theme of the 12th five year plan was :
(1) Inclusive growth

(2)  Faster and reliable growth

(3)  Reliable and sustamable growth

(4)  Faster, sustainable and more inelusive growth.

AR U= TS &7 < &y o 7

IR IEGREE AL

(2) g ud favasE HHE
)
)

~

(AIvaHA U8 9dd [

Options:-

«1, Option ID :- 1277,

« 2, Option ID :- 1278,

« 3, Option ID :- 1279,

« 4, Option ID :- 1280,

Answer Given:- 4, Option ID : -1280

Question ID:- 321
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True expression of National Income 1s :

NNT at market price + Depreciation

NN at tactor cost + Net indirect taxes

NNP at market price — Net indirect taxes

NNF at factor cost + Indirect tax + Depreciation

I 247 F 3 A E

(1)  NNP =&R Je7 + AayeT

(2)  NNP 597 a7 + 95 AFeds] 7

(3) NNP &6 Hed - 3lg 315 5l

(4)  NNP H97 FE + 95 A998 H + 21T eH
Options:-

«1, Option ID :- 1281,
« 2, Option ID :- 1282,
« 3, Option ID :- 1283,

« 4, Option ID :- 1284,
Answer Given:- 4, Option ID : -1284

Question ID:- 322

Which ot the tollowing is not correct ?

(1)

GDP =GNP = Net tactor income from abroad.

GNP = NNP + Depreciation

NDP = GNP - Depreciation — Net factor income from abroad
GDP =NNP + Deprediation + Net factor income from abroad

fr=AfetEd 5 5 #m-1 T2 T8 27

(1) SELd = Sl uAd. - e 9 o s |9rEd w59

(2)  Sftuddl = U A+ e e

(3)  UAZET =S - vy - e A e s weE e

(4)  SHELHL = UAEANL + seryedd + foesl 9 e 95 HiEA 1
Options:-

«1, Option ID :- 1285,
« 2, Option ID :- 1286,

« 3, Option ID :- 1287,

« 4, Option ID :- 1288,
Answer Given:- 4, Option ID : -1288

Question ID:- 323
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Which of the following is not included in revenue receipts of Govt. of India ?
1) Interest on loans from state governments.

2)  Profits of PSUs

3)  Fees, Fines and Penaltes.

4)  Borrowmgs.

fefateEa © 9 59 v 9 7 e WEE 4 wine 7@ fme am E 2
(1) T HERR H W R0 9 17

(2)  WLTHA, H AT @

(3) W, SHA UE U

(4)  =EW

Options:-

«1, Option ID :- 1289,

» 2, Option ID :- 1290,

« 3, Option ID :- 1291,

« 4, Option ID :- 1292,

Answer Given:- 4, Option ID : -1292
Question ID:- 324

Which of the tollowing statement is/are correct ?
(A)  Service sector has been the driver of high rate of GDP growth in India during post retorm
period.

petprime.com

(B) Service sector 1s the largest contributer in employment and second largest contributor in
GDP in India in last two decades.

(1) Only (A)

(2)  Only (B)

(3)  Both (A) and (B)
(4)  Neither (A) nor (B)

frefafea o 7 #F-mA Fum w7
(A) FEW FTA & TR EA H 5 SELH. Fhp 2 H FA A oRE E e
(B)  wHa 7 et a1 G2l | el &5 &1 T | Jaiaed T8 S 20 o g8 Had =ae AveE @ |

(1) et (A)

(2) 9 (B)

(3)  (A)TH (B) &
(4) T (A) 3T A F (B)

Options:-

«1, Option ID :- 1293,
« 2, Option ID :- 1294,
« 3, Option ID :- 1295,



« 4, Option ID :- 1296,
Answer Given:- 1, Option ID : -1293

Question ID:- 325

Rural Infrastructure Development Fund was instituted in :
(1) RDBI

(2) SIDBI

(3) ADB

(4) NABARD

T W e A e i wA fRE Heen w A w7
(1) HRALAE. (RBI)

(2) SIDBI

(3)  ADB

(4)  NABARD

Options:-

«1, Option ID :- 1297,

» 2, Option ID :- 1298,

« 3, Option ID :- 1299,

« 4, Option ID :- 1300,

Answer Given:- 4, Option ID : -1300

Question ID:- 326

Capital receipts of Government of India do not include :

(1) Interest receipts on loan

(2)  DBorrowings

(3)  Recovery of loan

(4)  Receipts [rom disinvestment of PSUs.

qA TEFE =1 G e o A e Tt 2 2 7

(1) B 9 =7 I G

(2) I (FHR)

(3) @

(4)  Hrwms, F fatrEe g e
Options:-

«1, Option ID :- 1301,
« 2, Option ID :- 1302,
« 3, Option ID :- 1303,
« 4, Option ID :- 1304,
Answer Given:- 3, Option ID : -1303

Question ID:- 327
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It MPC is 0.8 and tax rate is .15, what will be the value of tax multiplier ?

Option

-5
-4
— 6D

2
-3

e

«1, Option ID :- 1305,
» 2, Option ID :- 1306,
« 3, Option ID :- 1307,
« 4, Option ID :- 1308,

Answe

r Given:- 3, Option ID : -1307

Question ID:- 328

Given the savings tunction 5= =504 (0.25Y, it investment in an economy increases by Rs. 250

Crore,

national income will imncrease by

(1)
(2)
(3)
(4)

fe2 T o= e S =

s 800 Crore
Rs. 900 Crore
Rs. 1000 Crore
Rs. 1200 Crove

(1) 800 i #9F i

(2) 900 HIZ FEI I

(3) 1000 #ATE F97 &l

(4) 1200 FUZ T A
Options:-

«1, Option ID :- 1309,
« 2, Option ID :- 1310,
« 3, Option ID :- 1311,
« 4, Option ID :- 1312,

Answe

r Given:- 3, Option ID : -1311

Question ID:- 329

~50+0.25Y ¥, A% TF sdwmEr 1 99 T 250 FUE T # 913 ol © a9 Wi
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Following is the information of Government Budget of a hvpothetical economy :
Revenue expenditure = Rs. 1000 Crore

Revenure Receipts = Rs. 700 Crore

Capital expenditure = Rs. 200 crore

Capital Receipts = Rs. 400 crore

Non debt creating Capital Receipts = Rs. 100 crore
What will be the value of fiscal deficit ?

(1) Rs. 300 Crore
(2)  Rs. 400 Crore
(3)  Rs. 500 Crore
(4)  Rs o600 Crore

e

Teh ST ST & RN =ea % (il @d s 2

T 78 = 1000 FI2 599

T W = 700 FAS T

ST T = 200 FE T

STE W = 400 FIE T

ui-2fgd geiind wiiddi = 100 #90g w9y
(1) 300 &2 594

(2) 400 FZ T

(3) 300 &g w44

(4) 600 FIE T

Options:-

«1, Option ID :- 1313,

« 2, Option ID :- 1314,

« 3, Option ID :- 1315,

« 4, Option ID :- 1316,

Answer Given:- 3, Option ID : -1315
Question ID:- 330

Investment demand in an economy depends on :
(A)  Marginal propensity to consume

(B)  Marginal efficiency of capital

(C)  Rate of mterest

(1)  Only (A) and (B)
(2)  Only (A) and (C)
(3) Onh (B) and (C)
(4)  AlL (A), (B) and (C)
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o

T sederere ¥ faw 7 e W fel w g7
(A) SIHFT & HEA T3

(B) Y T HHR e

(C) =T I =

1) A (A) TH (B)
) FEE (A) TH ()
3) e (B) U4 (C)
(4)  (A), (B) & (C) Bl

(
(
(

Options:-

«1, Option ID :- 1317,

« 2, Option ID :- 1318,

« 3, Option ID :- 1319,

« 4, Option ID :- 1320,

Answer Given:- 3, Option ID : -1319
Question ID:- 331

According to Kevnes, involuntary unemployment exist due to:
(A) Deticiency of aggregate demand

(B)  Deticiency of aggregate supply.

1) Only (A)

) Only (B)

3)  Both (A) and (B)
(4)  Neither {A) nor (B)

| —

{
(
(

i

oA o AN, S0 GLsrTal (1 Sio H 918 Sl & 7
(A) FHE AT H A
(B) &9 Ifd = =

(1) e (A)

(2) A (B)

(3)  (A) T (B) &
(4) T (A) 3 A (B)

Options:-

«1, Option ID :- 1321,

« 2, Option ID :- 1322,

« 3, Option ID :- 1323,

« 4, Option ID :- 1324,

Answer Given:- 1, Option ID : -1321

Question ID:- 332
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Which of the following causes cost-push inflation ?
(A)  Increase in Government expenditure
(B) Increase in wages

(C)  Increase in protit margins.

(1)  Only (A) and (B)
(2)  Only (B) and (C)
(3)  Only (A) and (C)
(4)  Only (C)

= O 9 = ArE- s e 3eT e 2 7
(A) HRR =7 ¥ gig

(B) Hagl H afg

(©) e s i o

-

(1) ad (A) U (B)
(2) Fa (B) T (C)
(3) A (A) TH (C)
(4)  #FwEA (C)

Options:-

«1, Option ID :- 1325,
» 2, Option ID :- 1326,
« 3, Option ID :- 1327,

« 4, Option ID :- 1328,
Answer Given:- 4, Option ID : -1328

petprime.com

Question ID:- 333

A situation when a high rate of inflation occurs simultaneously with a high rate of unemployment
is known as

(1) Stagnation

(2)  Recession

(3)  Intlation

(4)  Stagflation

T THT STEE W G 1 S 6 UG SRSl w1 1T oY U Wiy AW S ¢ a1 % Hel Wl

(1) Tifaera

(2)  Hal

(3) HEEH

(4)  =Hifd Tl
Options:-

«1, Option ID :- 1329,



« 2, Option ID :- 1330,

« 3, Option ID :- 1331,

« 4, Option ID :- 1332,

Answer Given:- 4, Option ID : -1332
Question ID:- 334

Which of the tollowing statement is/are correct ?
(A} An increase in government expenditure raises GNP, Multiplier determines the size of this
mcrease.

(B)  An increase in taxes increases GNI.

(1)  Onlv (A)

(2)  Only (B)

(3)  Both (A) and (B)
(4)  Neither (A) nor (B)

frefafea © 3 #5933 b T8 587
(A) TFEERI = H gig S UAT. w1 F@en € U 39 ahg T e i e e €
(B) &4 1 gfg Sl o =il €1

(1) =aa (A)

(2) de (B)

(3)  (A) T (B) &
(4) 7 (A) 3T A (B)
Options:-

«1, Option ID :- 1333,

« 2, Option ID :- 1334,

« 3, Option ID :- 1335,

« 4, Option ID :- 1336,

Answer Given:- 1, Option ID : -1333
Question ID:- 335

As per NFHS -3, the intant mortality rate (per 1000 livebirth) in India has declined to :
(1) 49.2

(2) 45.3
(3) 427
(4) 35.2
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(1) 49.2
(2) 45.5
(3) 427
(4 5352
Options:-

«1, Option ID :- 1337,

« 2, Option ID :- 1338,

« 3, Option ID :- 1339,

« 4, Option ID :- 1340,

Answer Given:- 4, Option ID : -1340
Question ID:- 336

Read the tellowing statements andd choose the correct option :
(A)  As per NFHS - 5, sex ratio of Haryana has improved from 836 (NFHS -4) to 893 (NFHS -5)
(B) Tor Kerala durmg the same period it has deteriorated trom 1047 (NTHSA) to 951 (NTHS-5)

(1)  Only (A)

(2)  Onlv (B)

(3) Buth A) and (B)
(4)  Neither (A) nor (B)

Options:-

«1, Option ID :- 1341,

» 2, Option ID :- 1342,

» 3, Option ID :- 1343,

» 4, Option ID :- 1344,

Answer Given:- 1, Option ID : -1341

Question ID:- 337

Options:-

«1, Option ID :- 1345,

» 2, Option ID :- 1346,

» 3, Option ID :- 1347,

» 4, Option ID :- 1348,

Answer Given:- 1, Option ID : -1345

Question ID:- 338
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Options:-

«1, Option ID :- 1349,

« 2, Option ID :- 1350,

« 3, Option ID :- 1351,

« 4, Option ID :- 1352,

Answer Given:- 1, Option ID : -1349
Question ID:- 339

In India, the last otticial estimation of poverty was done by Rangarajan Committee in 2014 using
the data of consumption expenditure survey 2011-12, The poverty was estimated by this committee
dab o

(1) 382 %
(2) 1325 4%
(3) 295 4%
(4 237 9%

A H, S B W A F EiE T 2014 H, ToeE 9Efd g 2011-12 F S99 #3916
Eaci co it ool e oot ) e o B e el B e A T e e e  E T B A o IR E MR | A
(1) 382%

5
(4 237%

Options:-
«1, Option ID :- 1353,
» 2, Option ID :- 1354,
» 3, Option ID :- 1355,
« 4, Option ID :- 1356,
Answer Given:- 3, Option ID : -1355
Question ID:- 340
In which of following five yvear plan Actual Growth Performance ot the Economy was higherthan
the targeted growth 7
(1) First Five vear Plan
(2)  Second Five year Plan
(3)  Third Five year Plan
(4)  Fourth Five year Plan
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(1) 9o =@ty A=
(2) e deamty A
(3) T AR T
(4) =il GEauly s

Options:-

«1, Option ID :- 1357,

« 2, Option ID :- 1358,

« 3, Option ID :- 1359,

« 4, Option ID :- 1360,

Answer Given:- 1, Option ID : -1357
Question ID:- 341

Disguised unemployment means :

(1)  Productivity of Labor is Low

(2)  Margmal Productivity of labor 1s Zero
(3)  Alternative Employvment is absent

(4)  Average Productivity of Labor is Zero

Tedt =TT & 239 2

(1) ™ %1 Ieqehd 77 &)

(2) o9 HEA T g
(3) RTeTH TR T TEl # |
(4)  &H Il S SEERA A Z |

Options:-

«1, Option ID :- 1361,

« 2, Option ID :- 1362,

« 3, Option ID :- 1363,

« 4, Option ID :- 1364,

Answer Given:- 2, Option ID : -1362

Question ID:- 342

Which of the following is/are included while estimating national income using Value added

Method ?

(A)  Imputed Rent of Owner occupied houses.

(B)  Imputed Value of goods produced for self consumphion.

(C)  Net ractor income from abroad.

(D) Value of ntermediate consumption.

(1) ( A), (B) and (C)
(2) (A), (B) and (D)
(3) {f\), (C) and (D)
()  Onlv (C) and (D)
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e =g fafs &1 wera 3 U2E ™ F SFEE o A0 e T 1 o e R s g ?
(A) T g el e e w s |
(B) ¥4 UM B FdIed S5 1 SIH1 qo |

(C) Torder & W 75 wEE 3 |
(D) HEAFAl SUE T |

(1) (A), (B) U (C)
(2) (A), (B)TE (D)
) (A,
)

—

3 (A), (C) g (D)
(4) FF (C) A= (D)

Options:-

«1, Option ID :- 1365,

« 2, Option ID :- 1366,

« 3, Option ID :- 1367,

« 4, Option ID :- 1368,

Answer Given:- 4, Option ID : -1368

Question ID:- 343

Given the information of an economy below :

C=530+08Y,

t=0.25

What will be value of multiplier ?
(y 2.25

(2) 2.5
(3) 4.0
(4) 2.0

L2 I ARE I A IR E AR S DI EA
C=50+08Y,

=0.25
T 1 Hed 1 B
(1) 2.25
(2)y 25
(3) 4.0
(4 3.0
Options:-

«1, Option ID :- 1369,
« 2, Option ID :- 1370,
« 3, Option ID :- 1371,
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« 4, Option ID :- 1372,
Answer Given:- 1, Option ID : -1369

Question ID:- 344

In Kevnesian Model, consumption is determined by ¢
(A)  Level of Income

(B)  Price Expectation

(C)  Consumer's Preferences

(D) Rate of Interest

(1) (A), (B) and (C)
(2)  (A), (B) and (D)
(3)  (A), (C) and (D)
(4)  Only (A) and (D)

F °F WA §, I F fAumm freE g Em g 7
(A) =T F =X

(B) =THA HETEA

(C)  SwTRT i Frerfrmany

(D) =TS I &L

(1) (&), (B) U5 (C)
(2)  (A), (B) TS (D)
3) (A), (C) & (D)
(4) A (A) T (D)

—_—

Options:-

«1, Option ID :- 1373,

« 2, Option ID :- 1374,

« 3, Option ID :- 1375,

« 4, Option ID :- 1376,

Answer Given:- 1, Option ID : -1373
Question ID:- 345

Which of the following is not a function of RBI ?

(1) Establishes business relations with Central banks ot other IMF member countries.
(2) Lending Money to Enterpreneurs

(3)  Accepts deposits of Union and State governments

(4)  Deals in Foreign Securities
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(1) IMF o 52 <91 F 50 55 3 |19 FH Jers w00d 7]
%) sEmE F O SER T
)
)

—

e TH T TR & ST = T

(3
(4

Options:-
«1, Option ID :- 1377,
« 2, Option ID :- 1378,
« 3, Option ID :- 1379,
« 4, Option ID :- 1380,
Answer Given:- 2, Option ID : -1378
Question ID:- 346
Which of the followings is not among the salient teatures of Indian economy at the time of
mndependence ?
(1) Disparities in Income Distribution
(2)  DPominance of Agriculture
(3)  Self sufficiency in toodgraing
(4)  Lack of Industriahization

A Al o T A e & T O W FE-mE J e favmasi i w adi g ?
(1) =17 faaem o Ty
(2) (T &7 FEEA

(3) WA T S
(1) AFETER w5 A

Options:-

«1, Option ID :- 1381,

« 2, Option ID :- 1382,

« 3, Option ID :- 1383,

« 4, Option ID :- 1384,

Answer Given:- 3, Option ID : -1383
Question ID:- 347

For most of its policy decisions RBI uses inflation indics atter April 2004
(Iy CPI

(2)  WPI

(3)  CPI industrial worker

(4) CTPT agriculture worker
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(1) <Pl

(2)  WPI

(3) TR g\ CPl
(4) =i 9w CPT
Options:-

« 1, Option ID :- 1385,
« 2, Option ID :- 1386,
« 3, Option ID :- 1387,

« 4, Option ID :- 1388,
Answer Given:- 1, Option ID : -1385

Question ID:- 348

Economic Reforms were introduced by China and India respectively in :

(1)
(2)

(3

(4)

1978 ; 1991
1981 ; 199]
1988 ; 1991
19682 ; 1991

(1) 1978, 1991
(2) 1981, 1991
(3) 1988, 1991
(4) 1982, 1991
Options:-

«1, Option ID :- 1389,
« 2, Option ID :- 1390,
« 3, Option ID :- 1391,

« 4, Option ID :- 1392,
Answer Given:- 1, Option ID : -1389

Question ID:- 349

Read the statements and choose the right option :

(A)
()

PM Gat Shakti is a Infrastructure development coordination plattorm

PM Gati Shakti s driven by 7 In frastructural en Tmes.

Both are correct
Both are incorrect
(A) 1s correct but (D) 1s mcorrect

(A) 1s mcorrect but (B) 1s correct
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a‘?g-:l:ﬁ Ei%l- l'!'é'-'i"-‘{ F_Eﬁ rl'j ke -r_ilr-itq |
(A} dom vfs o w e e e e #)

(B) dium. wifd wifs 7 &= sl g9 gy T o @l R
(1) EFiHe &

(2) <l Terd @ |

(3)  (A)FEI € A (B) A £

(4) (A) A & TG (B) FEI £

Options:-

«1, Option ID :- 1393,

« 2, Option ID :- 1394,

« 3, Option ID :- 1395,

« 4, Option ID :- 1396,
Answer Given:- 1, Option ID : -1393

Question ID:- 350

Read the tollowing statements and choose the correct option :

(A)

(B)

As per economic survey 2021-2022; India’s Conventional Policy approach popularly known
as Watertall approach has dumped in favour of Barbell strategy.

This policy change was brought into play ror adjustment in the policies based on real-time
information.

(A) 1s correct but (B) 1s incorrect

(£\) is muorrect but (B) is correct

(B) 1s the right explanation of (A)
(A) and (B} are contradictory

01 el w1 TEEL WRl fashed 1 = R

(A)

(B)

IfeaR FERT0T 2021-22 % TR, NA F H=fda FErEe | i wEs giemm F enea | SarE
& s H e fE T

I AT gfiada arsfas-shre gaasi & e w Aiad § afedsmmEse 2 fam a2

(1) (A) 981 & 7= (B) e &1

(2)  (B) 7l & Wg (A) T £

(3)  (B) %A (A) FI U3l =R T

(4)  (A) 3R (B) Us HL o fauenerEr € |
Options:-

«1, Option ID :- 1397,
» 2, Option ID :- 1398,
» 3, Option ID :- 1399,

« 4, Option ID :- 1400,
Answer Given:- 3, Option ID : -1399

Question ID:- 351
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According to bud;;et 2022-23 - four priorities of Amrit Kaal are :
(1)  PM Gati Shakti ; Inclusive development ; Productivity Enhancement and financing of
mvestment.

(2)  PM Gati Shakd ; Inclusive development ; Productivity Enhancement and linking of rivers.
(3)  PM Gati Shakt ; Inclusive development ; Productivity Enhancement and women

empowerment

(4) (1) and (2) is correct but (3) 18 mcorrect.

ki

2022-23 % T2 F HTHR, FHA-FE F TR ALEHA ¥

(1) dhus fa v, wEae s, seemdr Haea ud e o fas e
(2) w0 ot geEe e e HadE v A e

) (1) TE (2) W E 9T (3) e 2

Options:-

«1, Option ID :- 1401,

» 2, Option ID :- 1402,

« 3, Option ID :- 1403,

» 4, Option ID :- 1404,

Answer Given:- 3, Option ID : -1403
Question ID:- 352

Which one of tollowing is direct instrument of Monetary Policy ?

(1) Cash Reserve Ratio

(2)  Open Market Operation

(3)  Liquudity Adjustment Facility
(4)  Reverse Repo Rate

T ¥ 9 #Fa-T Afes Afa F1 S 9w 2 7

(1) g =1 S
(2) e s = o
(3) AT THESE A
(4) FEd o

Options:-

«1, Option ID :- 1405,
« 2, Option ID :- 1406,
« 3, Option ID :- 1407,
« 4, Option ID :- 1408,
Answer Given:- 1, Option ID : -1405

Question ID:- 353
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According to Mercantilists view; trade is a :
(1)  comparabive advantage game.

(2) negative sum game.

(3)  zero sum game.

(4) positive sum game.

FaE faar & AN, AN

(1) e o4 &1 9 3 |
(2)  TEIeHE 91 EHA )
(3) 91 S EE

(4)  HATETR S B E

Options:-

«1, Option ID :- 1409,

» 2, Option ID :- 1410,

« 3, Option ID :- 1411,

« 4, Option ID :- 1412,

Answer Given:- 3, Option ID : -1411
Question ID:- 354

Which of the following WTO agreement cover all internationally traded services ?

(1) TRIPS

(2)  TRIMS
(%) GATS

(4) PTA

91 5 | FH-1 WTO HH3 (Agreement) H9 H=00A HAHA 5 T0 &1 WA (Cover) il €7

(1y  TRIPS
(2)  TRIMS
(3)  GATS
(4) PTA
Options:-

«1, Option ID :- 1413,
« 2, Option ID :- 1414,
« 3, Option ID :- 1415,
« 4, Option ID :- 1416,
Answer Given:- 3, Option ID : -1415

Question ID:- 355
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With reference to the component of ‘Bharat Nirman Yojana® which of the followmg are correct ?
(A)  Rural Housing

(B)  Rural Telephony

(C) Rural electrification

(D) Rural employment

Select the correct answer using the code given below :

(1) (A), (B) and (C)
(2) (D), () and (D)
(3)  (A), () and (D)
(4)  All of the above

L R AT TE F A= 0 A F AT R 6
(A)  TIHTT FETH

(B) AT TEATRA

(C) T forRpwT

(D) T TR

1) (A), (B) #R (Q)
2)  (B), () ¥ (D)
3) (A, (C) i (D)
4)  SwEE Al

(
(
(
(

Options:-

«1, Option ID :- 1417,

» 2, Option ID :- 1418,

« 3, Option ID :- 1419,

« 4, Option ID :- 1420,

Answer Given:- 1, Option ID : -1417
Question ID:- 356

Which one of the tollowing is not correctly matched ?

Organisation Year of Establishment
(1) International Monetary Tund - 1943
(2)  World Bank - 1944
(3)  World Trade Organisation - 1995
(4)  Asian Development Bank - 1966
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o= o 51 %7 gafea & & 2

BHEE] T =
(1) eI qa1 #9 1945
(2y fawwa% 1944
(%) Torga sEmur wied 1995
(4)  ufvrEe A den 1966

Options:-

«1, Option ID :- 1421,

« 2, Option ID :- 1422,

« 3, Option ID :- 1423,

« 4, Option ID :- 1424,

Answer Given:- 2, Option ID : -1422
Question ID:- 357

Arrange the origin of money in a sequential order :
(I  Metallic money

(II)  Comumodity money

(1) Paper money

(IV) Plastic money

Select the correct answer using the code given below code:

(1) (1), (I, (1), (IV)
(2)  ({1V), (), 1), @)
(3) (D, (1), (1), (IV)
(4) (I, (IV), (IT), (T)

Heal F 357TH 1 FIeT FH | IE

() =g HA
(I =5 5=
(L) 7T g
(IV) =T e

(L)y (D), (ID), (I11), (IV)

(20 (1V), (1), (1), (1)

3) (1), O, (), 1V)
) (U, (IV), (1), (1)

Options:-

«1, Option ID :- 1425,

« 2, Option ID :- 1426,
« 3, Option ID :- 1427,
« 4, Option ID :- 1428,
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Answer Given:- 3, Option ID : -1427

Question ID:- 358

Which ot the fﬂllt_wving Commuodities is kept outside the purview of G5T 7

(A)  Insurance Products
(B) Petroleum Products
(C)  Edible Ouls

Select the correct answer using the code gven below :

(1)  Only (A)
(2) Only (B)
(3)  Only (C)
(4)  All of the above

fmfetEa & 7 90 59 51 9% U9 991 H1 F 5 9 96l T A E 7

(A) =T IFE

(B) T Zo

(C) @ e

= T2 T e W EE Sl A

Options:-

«1, Option ID :- 1429,

» 2, Option ID :- 1430,

» 3, Option ID :- 1431,

» 4, Option ID :- 1432,

Answer Given:- 2, Option ID : -1430

Question ID:- 359

Which one of the following countries is not the member of the Shanghai Cooperation Organization

(SCO) ?

(1) Japan

(2} India

(3)  China
(4)  Pakistan
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(1) =M

(2) M

(3) =

(4)  HifREH
Options:-

«1, Option ID :- 1433,
« 2, Option ID :- 1434,

« 3, Option ID :- 1435,

« 4, Option ID :- 1436,
Answer Given:- 1, Option ID : -1433

Question ID:- 360

Which of the following is correct ?

(A} Sensex is an index number of 30 shares.

(B)  The eldest stock exchange of India is BSL.

(C) Tutures and optons in shares are traded at all stock exchanges of India.
Code :

(1) (A)and (B)

(2) (B) and (C)

3y (A) and (O

(4)  (A), (B) and (C)

e T A=A T 9 27

(A)
(B)
(©)
e :

T 20 9T UE GEEE R
TR = T O T TR SUEE, ¥
I % PIEH A1 AW i FREN IR F T Wi TS o T S g

(1) (A) 7 (B)
(2)  (B) =M (©)
(3) (&) 37 ()
(4 (A) (B) ¥ (C)
Options:-

«1, Option ID :- 1437,
« 2, Option ID :- 1438,
« 3, Option ID :- 1439,

« 4, Option ID :- 1440,
Answer Given:- 1, Option ID : -1437
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